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INTRODUCTION

Bildiginiz gibi, YDS-ingilizce Sinavinda, her birinin {i¢ sorusu olmak Gizere, yedi okuma pargas:
ver almaktadwr. Smavin yirmi bir sorusunun bu alandan ciktifim géz ontine aldigimizda,
paragraf konusu, tzerinde dikkatle durmammz gerektirmeltedir.

Ogrencilerin en ¢ok zorlandiklan paragral konusu, biz dfretmenlerin de 6gretirken en ¢ok
silunty cektigi bir konudur. Conkd, paragraf sorulannm yanitlanmasi, okuma-anlama temeline
dayandifit icin, bu alanda, gramer konulannda oldugu gibi, size verebilecegimiz kesin kurallar
yokiur. Ancak bu konudaki becerinizi gelistirmek icin dnerebilecefimiz bazi yontemler vardir.

Oncelikle, paragral konusunda 6grencileri zorlayan noktalann nedenleri {izerinde durmamiz ve
bunlara aciklik getirmemiz gerekmektedir.

Bugline kadar edindigimiz deneyimlerimizi goz online alarak yaptifimiz saptamalara gire,
paragral konusunda ¢grencinin basansini olumsuz yénde etkileyen nedenleri temel olarak soyle
siralayabiliriz:

- Yetersiz gramer bilgisi
- Yetersiz stzctik dagarcifiy
- Dikkatsizlik

Parcayr olusturan ctimleleri anlayabilmek. ciimleler arasinda anlam ve dislince ybéniinden
baglanti kurabilmek ve dolayisiyla parcayr anlayabilmek icin iyi bir gramer bilgisine sahip
olmamiz gerekmektedir. Cimlelerdeki gramer yapilaninin ya da ctmleler arasindaki baglag vb.
gibi sozchklerin sagladifi gecisin tam olarak aynrnuna varamadifmz takdirde pargayr yanls
anlama olastifimz cok yuksektir. Bu nedenle, paragrafl konusuna aywdifimmz 22 ve 23.
saytlanmuzdaki parcalari okurken, bu yénde bir zorlanma hissederseniz, gramer konusunda
kisa bir tekrar yapip eksiklerinizi gidermek yararl olacaktir.

Parcada vurgulanan dusiinceyi tam olarak anlamanmz agsindan sizetik konusu da dnemii bir
rol oynamaktadir. Cok sayida bilmediginiz stzciik iceren bir pargay: tam olarak anlamamz dogal
olarak zor olacakiir. Ancak bu, parcada gecen sdzciiklerin tamarmuru bilmek zorunda oldugunuz
anlamna gelmemelidir. Birkag¢ sézetigtin anlamim bilmemenize ragmen, parcanin bitininden
bu sozeliklerin ne anlama geldigini gtkarmantz miimkiindtir, Burada énemli olan, bilmediginiz
sdzelklerle karsilastifinizda moralinizi bozmadan ya da heyecana kapilmadan parcay bir kez
daha dikkaltle ckuyup, pargamn biittintinde vurgulanan diigtinceyi yakalamaktr.
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Iyi diizeyde gramer bilgisine ve engin bir sézciik dagarcifina sahip olmaniz, sadece paragrafl
degil. seceneklerdeki ifadelerl anlamanmiz acisindan da gereklidir. Cunki. 6zellikle dogru
yanittaki anlam, parcada definilen konulann farkli yapt ve sézciiklerle ifade edilmis bicimidir.

Genel clarak batiin smavlarda ve dzellikle de coktan secmeli sorularda basansizhgr énemili
dletide koriikleyen dikkatsizlik, paragral sorulanni yamilarken de yamlgilara yol acabilmektedir.
Parcada vurgulanan diistinceyi yakaladiiniz halde, sorunun sizden tam olarak ne islediine
dikkat eimezseniz, yanls yamt vermeniz mimkindir. “It's stated in the passage that .."
"According to the writer, ..." vb. bigiminde baslayan sorularda, soru kékiiniin neyi sordugu beili
olmadig: icin, dogal olarak, seceneklerin pargayla baglaniist ghz 6niine alnacaktir. Yani bir
anlamda. eleme yontemiyle parcada ifade edilmemis olan secenekler atidlarak, dofiru yamnit
bulunacakiir. Ancak, soru kékiinde belli bir agklama yapilmis olan sorularda, parcada ifade
edilmis olan birden fazla secgenekle karsiasabilirsiniz. Bu durumda, seceneklerin parcayla
baglantisun kurmak yerine, sorunun sizden ne istedifine ayrica dikkat etmeniz gerekecekdir.

Agiklamalanmuzin basinda da ifade etliimiz gibi paragraf sorulanm yamtlarken size yardimao
olacak kesin kurallar verememernize ragmen, yukarida degindifimiz noktalan géz dntine alarak
ve cok sayida ahstirma yaparak, bu konudaki basannizin artacagina inaniyoruz.

Bu saymmzda yirmi, 23. sayimizda virmi olmak Uzere toplam kirk ockuma parcasi, olabildigince
farkl: alanlardan secilmistir. Bundaki amacimz, mimkin oldugunca cok ahsuirma yapma
olanafl yaratirken, farkl alanlarin kendine 6zgi1 terimleriyle karsilasmamz: saglayarak, sinavda
bilmediginiz sézcliklerle karsilagma riskini en aza indirgemelktir.

OYS ve YDS ingilizce sinavlarindan sectifimiz yirmi parcay1 céztimleriyle birlikie inceleyecegiz.
Bu sekilde, sorulan yamitlarken nelere dikkat etmeniz gerektiini daha net goérecek ve belli bir
balkis acis1 kazanacaksinz.,
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It was a misty morning, and there was a soft rain falling. There were only a few
leaves left on the trees, bul on the ground was a thick carpet ol brown and yellow
leaves. This was the time of year the old gardener loved best. Since he was too old
to work, he used to spend his days by the window, looking out on the garden. It
was no longer what it had been under his care, but still it was lovely.

The garden had looked much nicer

................

A) when he lirst began to work in it

B) during the summer months

C) before the winter had come

Dj from the other window

E) when the old man had been looking
after it

It is obvious that .............. .

A) no one cared any longer for the old
gardener

B} the old gardener disliked staying
indoors

C) the old gardener was as fond of his
garden as ever

D) il always rained heavily there in the
spring

Ej} the old gardener was no longer
interested in gardening

The passage gives a description of

A} the old gardener's dislike of rain
Bj {he old gardener's house

C} the change of the seasons

D) a wet morning in autumn

E) the weather in winter

{OYS 1988)

1-

"The garden had looked much nicer ...."
soru kéki, bahgenin eski durumuna
iliskin bilgi istemektedir. Parcada
bununla ilgili bilgiyi, son ctimlede
gormekteylz. Yani "It was no longer what
it had been under his care, ..." (Bahcge
arlik kendi baktif zamanlardaki gibi
degildi...} ifadesi, bahc¢enin, yash
bahcivarmun baktifi zamanlarda daha
giizel oldugunu vurguluyor ki bu anlanu
da E segeneginde bulabiliyoruz.

Bu soruyu eleme yéntemiyle ¢dzebiliriz.
Par¢gada A, B, D ve E seceneklerindekd
ifadelere deginilmemistir. Parcamn en
son camlesindeki “..., but still it was
lovely.” ifadest ise C secenefiindeki
antlami, yani "Bah¢ivamn bahcesini her
zamanki gibi sevdigi” anlamu
vermekiedir.

Parcamn basindaki betimlemeden,
mevsimin sonbahar oldufunu ve yagish
bir géintin anlatildigim anliyoruz. Bu
anlam: D secenedi vermektedir,
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Nowadays. in England. tea is quite the most popular, and also the cheapest, of all
drinks. People drink their tea in different ways. Some like it with sugar, some
without. Some drink it with milk, some with lemon; yet, one way or another just
about everyone drinks tea. This, however, has not always been the case. During the
last century, when tea was very expensive, it was kept locked up, and the lady of
the house had the key. Tea drinking then was quile a ceremony, reserved for the

evenings. Al breakfast everyone drank beer!

In the passage it is explained that

................

A) in England today people have different
habiis of tea drinking

B] in the past in England only the
wealthy were able to drink beer

C} at breakfast English people also like
to drink beer

D) English people mostly prefer to have
their tea in the evening

E} in England usually a ceremony is held
in the family before tea is served

Compared with the past, in England
today ..ccooovvveenns .

A) more and more people prefer tea 1o
beer

B) tea is regarded as a luxury

C) tea is very cheap and commonly
available

D) sugar is becoming less and less
popular

E) people don't care about the quality of
tea

it is obvious from the passage that

------------------

A) English people have always regarded
lea as better than beer

B) over the years the popularity of tea in
England has increased tremendously

C) drinking tea with lemon is only a
recent habit in England

D) like tea, beer also is an extremely
popular drink

E) English people are no longer fond of
ceremonies

(OYS 1989)

4-

B, C, D, ve E secencklerindeki ifadeler
parcaya uymamaktadir. Parcamin giris
béliimiinde ingiltere'de insanlann gay
farkh sekillerde ictigi anlatilmustir, Bu
anlami A seceneginde bulabiliyoruz.

"Compared with the past, in England
today ....." sorusu, Ingiltere'de cayin
bugiinkit durumunu sermaktadir.
Parcamn giris boltimundeki ifadeden
guntmiizde ingiltere’de caymn ucuz ve
bol oldugu anlam gkmaktadir. Bu
anlam C seceneginde verilmektedir.

C, D, ve E seceneklerindeki ifadelere
parcada deginilmemistir. A segeneginde
ise "Ingilizlerin her zaman ¢ay: biradan
daha gok sevdikleri” ifade edilmektedir.
Oysa pargada boyle bir karsilastirma
yapilmamstir. Parcada vurgulanan
"gecmisten gimiimiuize cayin poptlarite-
sinin arttifl” anlarmm B segenegi ver-

melktedir.
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The desires of a child were naturally rather limited in the Victorian era. Toys were
simple and comparatively few; there were no bicycles or mechanical models: the
average child "made his own fun" from very cheap materials. Really the only shop
the child dreamed of entering for his own purposes was the sweetshop. Nowadays a
bewildering variety of toys, magazines and entertainments in a multitude of shops
compete for his inierest and money; and the boredom of having everything
ready-made leads to a constant desire for something new.

7- It is suggested in the passage that the

modern child ...ocovvvnvnene. .

A) wishes he had been born in the
Viclorian era

B) suffers from boredom in spite of all
the Loys

C] develops his abililies by playing with
toys

D} is well able to amuse himself

E) is allowed to eat too much

According {o the passage, ...........oc0. .

A} mechanical toys are essenlial to a
child's happiness

B} a child should not he left to "make his
own fun”

C} home-made toys give more pleasure
than ready-made ones

D} a constant desire for something new
was encouraged in  childrr 1
Victorian times

E} simple toys slow down a child's
development

The passage emphasizes ............... .

A} a child should have money to spend
an toys

B} the importance, in childhood. of a
large choice of loys

C) how lucky the modern child is

D} that sweets are not good for the
health

E) the dilference between a Vicloriar
childhood and a presenl day one

(OYS 1990}

7- Soruda giintimuzde ¢ocugun durumuyla

ilgili bilgi istenmektedir. Modemn goculkla
ilgiti olarak parcaya baktifirmzda. son
ciimlede "¢ok sayida oyuncaga ragmen
cocufun silaldigt” anlamim bulmaktayiz.
Bu anlam B secenefi vermektedir.

Eleme yontemiyle yapabilecegimiz bu
soruda, A, B, D, ve E seceneklerine
parcada deginilmedigini gériiyoruz.
Parcada Victoria ddénemindeki coculkla
glintimiiz gocufu kargilagtinlmaktacdir.
Victoria déneminde ¢cocugun kendi
eflencesini kendisinin yarattigy;
gintimiiz cocufunun ise, hergeyi hazir
buldugu icin (the boredom of having
everything ready-made} can sikintis:
cektigi vurgulanmakiadir. Bu anlam C
seceneginde buluyoruz.

Parcada Victoria dionemindelki cocukla
ganiimiiz gcocugu karsilastinlmaktadir.
Bu anlam E seceneginde gortyoruz.
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A popular method of treating frozen fingers and toes in very cold, even freezing
weather is to slowly rewarm them or rub them with snow. The best treatment,
however, is not slow rewarming but rapid rewarming. Putting the frozen fingers, or
toes in a warm bath or using a hot water bottle are both good ways to ireat them.
Hot drinks to warm the body from within are also helpful. One must be careful
about burning the skin, however. The {emperature of any heat applied should not

be greater than 43°C.

10-The main concern of the passage is

..............

A) why frozen fingers and toes should be
slowly rewarmed
B} how to keep adequately warm in
winter
C) how to treat fingers and toes that
have been frozen
D) the dangers of freezing weather for the
body
E) why one should have plenty of hol
drinks in winter

11-It is pointed ocut in the passage that

.............

A} the use of hot water bottles to rewarm
the body is not advisable

B) one should try to rewarm frozen
fingers and toes fairly rapidly

C) in rewarming the body the higher the
temperature, the better the result is

D) people should be warned not to go out
in freezingly cold weather

E) one should take a hot bath as often as
possible in winter

12-The author warns that ........... .

A) the minirnum temperature required is
43°C.

B} in rewarming the body, care must be
laken not to burn the skin

C) one should never rub frozen fingers
and toes with snow

D) hot drinks must not be taken in
immediately

E} recovery cannol be as rapid as one
would expect

(OYS 1991)

10-Parcanin ana distncesini soran
sorularda, parcay dikkatle ckudukian
sonra eleme yéntemini kullanabilirsiniz.
Parcayr okudugumuzda, konusunun
donmus el ve ayak parmaklanmn
tedavisi oldugunu gériiyoruz. Bu anlam
C secenegi vermeltedir.

11-Parcamn ikinei eiimlesindeki "en iyi
tedavi yénteminin, yavas degil Iuzh bir
sekilde 1sitmak” oldugu anlamini B
secenegi vermektedir.

12-"The author warns that ......... " {fadest,
yazarin yaplif: bir uyany: sormaltadir.
Par¢amn son iki climlesinde uyarn
vardir. Pargcada ve A seceneginde gecen
43" C 1s1 yaniltic: olabilir. Ancak parcada
"uygulanacak 1sinin 43" C dan fazla
olmamasy” vurgulanmakta; A
seceneginde ise "en az 43" C olmasi
gerektigi” ifade edilmektiedir ki parcaya
gore bu yanhs bir ifadedir. Parcada
yvapilan difer uyan ise , "isitma swrasimda
deriyi yakmamalk i¢in dikkatli olmak”
ifadesidir ki B segenegindekti ifadeyle
aymdir,
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damaging.

In an interview yesterday, Mr. Wilson was questioned abeout the harmful effects of
horror movies on teenagers. He argued that such effects were often exaggerated,
and claimed that other types of film were far more dangerous for young people.
When asked to prove this, he pointed out that horror films were often set in unreal
situations and were clearly not to be taken seriously. In contrast, he claimed that
films showing violent crime were often set in everyday life, and were therefore more

13-In Mr. Wilson's apinion, horror films

A) cost more than other kinds of film

B) are more popular among the elderly
than among the young

C) should be banned altogether

D) are less damaging to young people
than films of violent crime .

E) have recently ceased to appeal to the
young

14-For Mr. Wilsen the main difference

between a horror film and one
showing violent crime is that the
former ......... .

A) is mainly concerned with everyday
situations

B) is liked by the young, and the latter
by the old

C) is unrelated to real life, whereas the
latter is

D) is less expensive o produce than the
atter

E) rarely recelves any attention from the
young

15-The interviewer wanted to find out

whether .......... .

A) young people were being harmed by
horror films

B) Mr. Wilson had himself been affected
by horror films

C} Mr. Wilson preferred horror films to
films of violence

D) people were seriously obiecting to
horror films

E} the effects of crime {ilms were being
exaggerated

(OYS 1992)

13-"...., and claimed that other types of film
were_far more dangerous _for young
people.” ifadesinden, Mr. Wilson'm korku
filmlerini daha az zararh buldugunu
anhiyoruz. Bu anlami D secenegt
vermektedir.

14-Bu seruyu yanitlayabilmek igin soru
kiékande gecen "former” ve seceneklerde
gecen “latter” sézciklerinin anlamm
bilmek gerekir. Stylenis sirasimna gére
birinciyi ifade eden "former”, "horror_film"
yerine kullamlmustir. Soylenis sirasina
gore tkinclyi ifade eden “latter” ise " film
showing viclent crime” yerine kullanil-
mistir. Bu durumda, ilk anda tizerinde
distiniilmesi gereken A ve C secenek-
lerinden A w1 eleyebiliyoruz. Clinkt A
secenegindeki ifade ikinci tir {filmin
ozelligidir. Oysa bizden istenen birinci
tiir, yani "horror film"mn &zelligini
bulmaktir. Dogru yanit C segenegidir.

15-Pargamn ilk climlesinden, Mr. Wilseon ile
yapilan goriismenin amacimn, korku
filmlerinin gengler Gizerindeki zararh
etkilerini arastirmak oldugunu
gbrityoruz. Bu anlarm A secenefi
vermektedir.
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Like so many other materials in Japan. paper oo has come in for many hundreds
of years of artistic consideration. Al one period of the country’s history. the paper
on which a poem was writien was as imporiani as the poem itsell. A thousand
years ago there were whole towns actively engaged in making paper. Such towns
still exist, hut there were also many farming villages which then, as they do today,
made paper to earn extra income during the winter. At present, about half of
Japan's farmers must add to lheir incomes with winter jobs. Although a large
amount of winter employment is provided by construction companies, some
farmers coniinue to work at such cottage indusiries as paper making.

16-It is obvious from the passage that the

art of paper-making in Japan ........... .

A) is still the most important source of
income for a large part of the
population

B} has disappeared owing to industriali-
zation

C) was of no economic value at all in the
past

D) was only praclised by the peasants in
the country

E) has a long history

17-The passage emphasizes that

approximately fifty per cent of the
farming population in Japan ........... .

A) is nol satisfied with current farming
policies

B) prelers town life to village life

C) engages in a secondary occupation in
the winter

D} plans to give up farming and go into
construction work

E) has no concept of the national history

18-1t is suggested that paper-making ...... .

A} encouraged the development of poetry
in Japan

B} is siill one of Japan's cottage
industries

C) has never heen a significant
cornmercial interest in Japan

D) has seldom been regarded as an art
by the Japanese

E} and construction are the two major
areas of employment in Japan

(OYS 1993)

16-A secenefindeki "kafidin pek cok kisi
i¢in en énemli gelir kaynag oldugn"
ifadesi dogru degildir. Clinkt parcaya
gore, pek cok insan kagiit sanaylinde ek
gelir icin calismakiadir. B secenefindeki
ifadede ise kafit yapirmmn,
endtstrilesme ylizGnden yekoldugu
belirtitmektedir ki parcada kagil
yapumnm hala devam ettigi soylenmis-

tir. C secenegindeki " .......... eskiden
ekonomik bir degeri yokin." ve D
secenefindeki " ... sadece ¢iftgiler

taralindan strdiralar " ifadeleri ise
parcadaki ifadelerin tam tersidir. Dogru
yamt E secenegidir.

17-Parcada, ksin cilteilerin hemen hemen
yarnsimn ek islerde calhistif ifade
edilmistir. Bu anlanm C secenegi
vermekiedir.

18-Secenckler arasinda {izerinde distinGi-
mesi gereken B ve E secenekleridir.
Ancak, E seceneginde gecen
“construction” {insaat sekior) ifadesi
parcada "kisin buiytk dlglide is imkan:
saglayan" biciminde tanimlanmstir.
Yani. kagit yapim ve insaal seki{ériiniin,
Japonya'nin baghca is alanlan oldugu
parcada ifade edilmemistir. B secenegin-
deki anlamu ise parganin en son ctimle-
sinde bulahiliyoruz.
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10

There is nothing that man fears more than the touch of the unknown. He wants to
see what is reaching towards him, and to be able to recognize or at least classify it.
Man always tends to avoid physical contact with anything strange. In the dark, the
fear of an unexpected touch can lead lo panic. Even clothes give insulflicient
security: it is easy te tear them and pierce through to the naked, smooth,
defenceless flesh of the viclim. All the distances which men create round
themselves are dictated by this fear. They shut themselves in houses which no one
may enter, and only there they feel some measure of security. The fear of burglars
is not only the [ear of being robbed, but also the fear of something touching you in
the darkness.

19-According to the passage, what 19-Parcanmn ilk ctirnlesi. "insanm en ¢ok, ne
frightens people most is .......... . oldugunu bilmedigi birseyin dokunusun-
dan korktugunu” ifade etrnektedir ki B
A} the thought of being robbed at night secenegindeki ifadeyle aymdir.

B) the unexpected contact with
something unknown

C} a sense of insecurity

D} being alone in the dark

E} the knowledge that they won't be
protected

20-ilk anda {izerinde diistinmerniz gereken
iki secenek A ve D segenekleridir. Ancak,
D secenegindeki "insanlar her tirli
fiziksel temastan kagimmmaya ¢alisirlar”
ifadesi, parcadaki "Man always tends to
avoid physical contact with anything
strange.” ifadesiyle ¢elismektedir, Clinki
burada. "insanin, garip seylere dokun-
maktan kagndift” ifade edilmektedir,
Parcadaki "All the distances which men
create round (hemselves are dictated by

20-Because people are frightened of the
unknown, .....

A) they feel it necessary to put a barrier
between themselves and the unknown
B} it is natural that they should always

be in a state of panic this fear.” ifadesi ise A segenegindeki
C) they feel safer in a crowd anlam: vermektedir.
D) they {ry to avold physical contact of
all kinds
E) burglars find it much easier to break 21-Parcamn konusu, "insamn bilinmeyen
into houses seylere kars: olan korkusu ve bunlara

kars: gelistirdigi onlemler” olduguna
gore, dogru yamt D secenegidir.

21-This passage is concerned with ........ .

A) how people can regain a sense of
security

B} the measures people are advised to
take againsi burglars

C} the three main iypes of [ear

D) people's fear of the unknown and how
they try to cope with it

E) how to bring one's fears into the open

(OYS 1994)
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Fahrenheit is the system of measuring the temperature, how hot or cold something
is. used by many people in Britain. The {reezing point of Fahrenheil is 32 degrees.
So a cold winter's day in Britain would have a temperature of 38" F (3" centigrade]
and a hot summer's day would have a temperature of 90" F (32" cenligrade}. The
Fahrenheit scale was invented by the German scientist Gabriel Fahrenheit in 1710.
Today in Britain most people over twenty-five know the Fahrenheil scale but the
centigrade system {Celsius} is being used more and more. Weather forecasts on
television and in newspapers show temperature in both scales.

22-It is explained in the passage that the
term "fahrenheit" ............... .

A) has retained its popularity among
young people

B) is very rarcely used in Britain today

C} refers to the scale of temperature
between 32" and 90"

D) is never used in weather [orecast

E) derives [rom the name of a German
scientist

23-1t is implied in the passage that in the
long run, the Celsius system .......... .

A) will be remembered only by the elderly

B} will soon [all into disuse

C) seems likely to be favoured by
newspapers but not by television

D} will replace the fahrenheit one

E) will improve and become more reliable

24-The passage deals with ............. .

A) two different systems of measuring
the temperature

B} the advantages of the fahrenheit
scale over the Celsius scale

C} the scientific research carried out by
Gabriel Fahrenheit

D) the range in temperature to be found
in the British Isles

E) the declining popularity of the
Celstus scale in Britain

(OYS 1995)

22-A seceneginde, "fahrenheil” sdziiniin
gengler arasmda popiilaritesini
strdirdigii ifade edilimektedir. Oysa
parcada, yirmi bes yasin {izerindeki pek
cok kisinin “fahrenheit"i bildigi, ama
"centigrade”in daha ¢ok kullamldif: ifade
cdilmistir. B segenefindeki " ...... nadiren
kullanihir” ifadesi parcada gegmemelkte-
dir. Parcada bu nokiayla ilgili olarak
"santigrad sisteminin giderek daha cok
kullanildigr” ifade edilmistir. C secenegin-
deki "........... hava raporlarinda hig
kullamimaz" ifadesi ise parcaya gore
yvanhstir. Dofru yamt E segenegidir.

23-Parcada "Celsius syslem” ile ilgili olarak
gecen ifadeyi (.......... gittikce daha fazla
kullamlmaltadir.} gozdniine aldigimzda,
D secenegindeki anlamin, yani "uzun
vadede "Celsius system”inn "Fahrenheit"in
yerini alacagl” anlammmm ima edildigini
goruyoruz.

24-Parca esas olarak, iki sicakhk 6lgtisti
(Fahrenheit and Celsius) ile ilgili bilgi
vermekledir ki bu anlam A seceneginde
buluyoruz.
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British towns sulfer from the same traffic congestion, noise and polluting fumes as
all towns in the western world, but as yet only London. Newcastle, Glasgow and to
a small extent Liverpool, have useful railways going underground through the
central areas. Elsewhere there are plans for building underground railways but
they have litile hope of making any progress with them so long as public
expenditure is restricted. In general, the north has better public transport than the
south, with cheap and [requent bus services using better roads shared with lewer

cars.

25-As it is pointed out in the passage,

most British towns have no under-
ground railway system ......... .

A) as the system is felt to cause a great
deal of poliution

B) since the majority of people have their
own private means of transport

C) as this is not felt to be a practical
system outside London

D) because there is not sufficient public
money available for such projects

E} simply because the people feel no
need for one

26-We can understand from the passage

that ............. .

A} Liverpool has the most developed
underground (rain system in Britain

B) more pcople drive their own cars in
the north than in the south

C) the north of Britain suffers less from
{raffic problems than the south does

D) the south of Britain enjoys cheap and
highly efflicient bus services

E} British cities have much less air
pollution than other cities in the west

27-The author suggests that underground

railways are an excellent means of
transport sinece........oeev.e. .

A} they are a mtch cheaper means of
transport than buses

Bj they do not pollute the streets of a cily
with noise and petrol [umes

C) the building and mainienance of them
is comparatively cheap

D} the numbers who use them can easily
be restricted

E) the services offered on them are
constantly being improved

‘ (OYS 1996}

25-Parcada, pek ¢ok Ingiliz sehrinde var
olan trafik sorununu ¢dzmek igin metro
yvapirmyla ilgili planlar oldugu, ama
yeterli mali kaynak olmamas: nedeniyle,
bu planlarin uygulanmasinin pek
mumkin olmadi@ vurgulanmalktadir.
Bu anlam D segenedi vermekledir.

26-Eleme yontemiyle yamtlayabilecegimiz
bu soruda. A, B, D ve E seceneklerindeki
ifadelerin parcada verilen bilgilerle
celistigi goriilmektedir, Parcanin son
climlesinde, tilkenin kuzeyinde tralik
durumunun daha iyi oldugu belirtilmek-
tedir ki bu anlam € seceneginde bulabi-
liyoruz.

27-Parcanin giris bélamiinde yazar, bitiin
bat1 diinyasinda oldujgu gibi. Ingiltere'-
deki sehirlerde var olan garaltia ve
kirlilikten stz etmis ve hemen arcindan,
sadece birkag sehirde iyi bir metro
sisteminin oldugunu belirtmistir. Yant
yazar, metro sistemini, ghrtilti ve kirlilik
yaratmadif icin mitkemmel bir ulasim
sistemni olarak gbrmektedir. Bu anlanu B
secenedi vermektedir.
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During the Crimean War, Florence Nightingale showed extraordinary qualilies of
determination and organizing ability. In the English hospital where she worked,
conditions at first were terrible; dirt and disease probably caused more deaths
among the soldiers than did the wounds received in battle. Still. under these
circumsiances, Florence Nightingale gradually built up a highly disciplined nursing
staff and, together with more adequate medical supplies. she was able to improve
conditions and be of real service to the soldiers. However, the work was hard, and,

as a result, her own health suffered.

28-One important point the passage

makes is that Florence Nightingale

..........

A) would have been more efficient if she
had had a more qualified nursing staff

B) was nol. lked by the nursing staff
beecause of her harsh discipline

C) hated the terrible conditions she was
working in and wanied to get away

D) failed to improve conditions in the
hospital as she herself had poor
health

E) overcame, with great efficiency, the
problems she faced in a military
hospital

29-1Ii is clear from the passage that,

because Florence Nightingale was a
determined person, with a gift for
organizing, she .......... .

A) velunteered to serve in the Crimean
War

B} was widely criticised by her staffl

C) did little nursing herselfl

D) was able to succeed in her work

E) was selected by the army to work as a
nurse in the hospital

30- As the writer points out in the

passage, conditions in the military
hospital were, at the beginning, so
bad that ......... .

A} they accounted for more deaths
among the soldiers than the war iiself

Bj little could be done to improve them

C) Florence Nightingale {elt she had little
chance of success

D) many of the nursing staff fel ill

E} medical supplies soon ran out

{OYS 1997)

28-Parcada genel olarak. Florence

Nightingale'in kararlilifii ve alamndaki
yetkinlifi sayesinde elde ettii basardan
stzedilmekiedir. A, B, C ve D segenekleri
bir olumsuzluk ya da basansizlik ilade
etmektedir ki bu da parca ile celismek-
tedir. Dogru yanit E segenegidir.

29-A, B, C ve E segeneklerindeki ifadelerin

parcada bulunmadigim goériiyoruz. D
secenefinde ise Florence Nightlingale'in
isinde basarh oldugu ifade ediliyor ki
pargada vurgulanan budur,

30-Askeri hastanenin baslangictaki

durumuyla ilgili parcada verilen bilgi A
secenegindeki ifadeyle aymudir.

13
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lived in the cighth cenlury BC.

Nobody knows when ficlion began. Maybe Lhe first story-ieller was a prehistoric
mother trying to explain the world to her children. Or perhaps it was a hunter
telling aboul his adventures around the camp fire. Who can tell? What we do know,
though, is that story-telling was a purely oral activity until around 800 BC. Myths
and tales were passed down by word of mouth and had to bhe memorized by each
new generation of story-tellers. This oral tradition only changed when ancient
peoples started to keep writlen records of certain stories. The earliest surviving
examples of these are the epics of Homer. a blind prolessiona! story-teller, who

31-It is pointed out in the passage that
story-telling ........ .

A) was [irst introduced by Homer in
ancient times

Bj possibly began in prehistoric times

C} began as a written activity in
antiquity

D) became less and less popular during
the 8th century BC

E) became {ar more popular with the
invention of writing

32

According to the passage, the Homeric
epics ...oeeee.. .

A) were among the first stories to be
written down

B) consisted mainly of myths and other
tales

C} are the first examples of prehistoric
tales and myths

D] were not the best of their kind in the
8ih century BC

E) have often been imitated successfully
in later centuries

33-We understand from the passage that,
throughout the oral tradition,
professional story-tellers .......... .

A} were much respected in primitive
societies

B) depended on Homer for their stories

C} were skillul at creating new stories

D) collected the first stories going back to
prehistoric times

E} used to learn myths and tales by
heart

(OYS 1998)

31-Parcada verilen bilgive gore, oyki
anlatinu Homer'dan cok érice
baslamistir. O halde A segenegindeki
ifade yanhstir. Oykd anlatinu yazinin
bulunmasindan dnce de var olduguna
gore, C secenegindeki tfade de yanhstr.
D ve E seceneklerindelki ifadelere
parcada hic deffinilmermnistir. Parcanin
ikinei cimlesi B secenegindeki anlam
vermektedir. Dogru yanit B secenegidir.

32-Parcada Homer'in destanlanyla ilgili
bilgiyi sadece son climlede buluyoruz ve
onun eserlerinin yazili dykiintin
ginimiize Kadar gelen ilk érnekleri
oldugunu 6greniyoruz. Bu aniam: A
secenefi vermektedir,

33-Pargada profesyonel dylktictilerle ilgili
olarak gecen bir ifade, dykiileri ezbere
bilmeleri gerektigidir ki bu anlarm E
seceneginde bulabiliyoruz.
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By the beginning of the eighieenth century, the population of Tokyo had grown
aboutl 1 million. making it the largest city in Japan and one of the most populous
in the world. An especially lively section of the city was along the Sumida River,
where pleasure boats and parties were common and whose banks were lined with
fashionable tea-houses. Tea was central to the Japanese not only in their homes,
but in the public life as well. In the bustiing urban centres of 18th-century Japan,
tea-houses served a role similar to the one played by coffee-houses in Europe
which were cenires of discussion and entertainment.

34-We learn from the passage that the

Sumida River ........ .

A) separaied the poor area of Tokyo from
the rich one

B) could be dangerous and so boats
rarely used it

C) ran through one of the most popular
parts of eighteenth century Tokyo

D} was a busy walerway since it was the
commercial centre of the city

E} has recently lost its popularity among
the people of Tokyo

35-The writer points out that, in the

eighteenth century, there was ....... .

A) an effort among other Japanese cities
to imitate the social life of Tokyo

B) a sudden increase in the population of
Tokyo

C) a growing interest among the people
ol Tokyo in European coffee-houses

D} a widespread desire among the young
in Japan for all kinds of entertainment

E} a greal likeness between Japan's
lea-houses and Europe’s coffec-houses

36-We can understand from the passage

that no city in the eighteenth century
Japan ........ .

A) could compete with Tokyo's cultural
life

B) had as many tea-houses as Tokyo had

C} had established as many centres of
entertainment as Tokyo had

D) had as large a population as that of
Tokyo

E} consumed as much tea as Tokyo did

YD5 1999/

34-Sumida River ile ilgili parcada verilen
bilgiyl dikkate aldifimzda {sehrin ¢ok
hareketli bir bolgesinden gecmesi ve
efflence merkezi clmasi). C seqeneginin
dogru oldugunu goriiyoruz.,

35-A, C ve D secencklerindeki ifadelere
parcada hi¢ definilmedigini gérayoruz.
Parcada Tolkyo'nun ntfusundan
sdzedilse de, B secenegindeki "niifustaki
ani artis" biciminde bir ifade
gecmemektedir. Bu di'tumda dogru
yvamt E secenefidir.

36-Pargada 18. ylizyilda Tokyo, difer Japon
sehirteriyle nifusu balkimindan
kargtlastimlmaktadir (... making it the

largest city in Japan). Bu ifadeyi D
seceneginde buluyoruz.

15
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Lile on a submarine may. to many people, sound fascinating. However, it is. in fact,
horribly boring. Except for the commanding officers, a day aboard a submarine
consists ol six hours on duty, six hours off, day after day, for months. This being
the case, every elfort is made to ensure that the lives of the men are as pleasant as
possible. The meals are exceptionally good, and there is a daily film, shown at a
specific time, on television around the submarine. In return, the crew is always
expected to perform perfectly all the time. A mistake is quite unforgivable. In fact, a
favourite saying is "There's room for everything on a submarine except for a

mistake”.

37- We learn from the passage that,

contrary to what a lot of people
expect, ....... .

A) life on a submarine is extremely
rewarding for the crew

B) submarines have every imaginable
facilily for entertaining the crew

C) beredom is a major problem for the
crew of a submarine

D) there is comparatively little work to be
done on a submarine

E) the oflficers on a submarine share the

same duties as the other members of

the crew

38-The writer of the passage emphasises

that, en a submarine, ........ .

A) there is every opportunity for officers
to have a pleasant life

B} every member of the crew helps to
prepare the meals

C) everyone works six hours a day

D)} lile never gets boring for the crew

E} everything is to be done faultlessly

39-1t is clear from the passage that it is

almost impossible ....... .

A) to make life aboard a submarine fully
fascinating

B) for olficers to establish a friendship
with other members of the crew

C} for everyone to be aware of night and
day

D) for the commanding officers to make a
mistake h

E) for any member of the crew to be on
duly more than six hours

(YIS 2000)

37- Soru kokiindeki "...pek ¢ok insamn

umduunun aksine...” ifadesi, parcanmn
en basinda sbéz( edilen bir konuyu
gerektirivor; ¢iinkd parcada, insanlarin
distinceleri ilk ctimlede yansitilmis,
hemen ikinci cimlede de bu diisiincenin
dofgru clmadi@ belirtilmis. Bu ki
cimlenin verdigi anlamdan yola qikarak.
degru yanitin C segenedi oldugunu
garariiz.

38- Bu soruda soru kéki ¢ok belirgin

olmadifii icin eleme yéntemini
kullanahiliriz. A se¢enef ilk anda yakin

~ gibi gortunse de, "..yasam hos kilacak

her imkan var..." ifadesinin dogru
olmadigini anbiyvoruz; ¢link{ parcada bu
ifade, "..yasam mamk(n oldugu kadar
zevkli knlmak igin her {irlii caba
gosterilir..” bicimindedir. C se¢enegini de
rahatlikla elivebiliyoruz ¢link{i pargada
sdz(1 edilen alt saatlilk mesai herkes igin
gecerli degildir. B secenegindeki ifadeye
parcada hi¢ deginilmermnistir. D
segenedinin ise yanhs oldugu cok actklr.
Dogru yamt E secenegidir.

39- Parcanin biitliniinde ifade edilen,

denizaltida yasamt zevkli hale gelirmek
icin her tarl{t cabamn gésterildidi, ama
buna ragmen can sitkintisimn biiytik bir
problem oldugudur. Buna gire, parcada
definilip de imkansiz olabilecek bir ifade
A seceneginde verilmektedir. Dofru yamt
A secenegidir.
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America, Africa, India and Antfarctica.

Some 130 million years ago, a spike-backed dinosaur walked heavily through the
wilderness of what came {o be Australia, and left its fooiprints as a gift for the
future. They were the world’s best impressions of a dinosaur's two-ton footfalls.
When they were found seven years ago in a remnote valley in northern Australia,
they provided scientists with the first clear evidence that dinosaurs had lived in
Australia. This discovery provided further evidence for the theory that Australia
was ornce joined to a vast super-continent that included what is now Scuth

40- It is clear from the passage that,
millions of years ago, Australia ..... .

A) was undoubtedly the only suitable
place in the world for the survival of
dinosaurs

B) was almost certainly not, as it is
teday, a separate continent

C) was, for the first time, inhabited by a
large variety of dinosaurs

D) was for the most part a wilderness
where no living being could survive

E) with its geography and climate
resembled South America and Africa

41-The passage makes it clear that the
dinosaur footprints discovered in
Australia in recent years ........ .

A) are the same as those also found in
South America, Africa, India and
Antarctica

B) have little attracted many a scientist
interested in the distant past of the
continent

C) could only have been made by
dinosaurs weighing a lot more than
two tons

D} are in surprisingly good condition
although millions of years have
passed since they were made

E) have made scientists revise the most
recent theories concerning dinosaurs

42- One reason why the discovery in
Australia of the dinosaur fooiprints is
so important is that ....... .

A) previously, no one knew for certain
whether this couniry had ever been
inhabited by dinosaurs

B} contrary to the popular view, this
continent had always been a vast
wilderness

C) until this discovery. nothing was
known about the early climate of this
continent

D) presumably, they will provide clues
for future geological changes in this
continent

E) up to this peint, no one knew for sure
that dinosaurs could weigh two tons

(YDS 2000}

40-Avustralya'min milyonlarca yvil dnceki
durumuyla #lgili parcada verilen bilgileri
goz ontine aldigimizda, B segenegindeki
ifadeyi, parcann son ciimlesinde
aulabiliyoruz. Dogru yamt B secenedidir.

41- A secenegindeki ifadeye pargada hig
deginilmemistir. B secenefindeki ifade
yanlistir ¢clinktl s6z1 edilen bulus bilim
adamlannm ilgisini ¢cekmistir. Parcada
dinozorun afirhfindan sz ediliyor, ama
C secenegindeki gibi bir ifade yolktur.
Parcaya gore, bu bulustan sonra bilim
adamlan bazi tecrileri tekrar gézden
gecirmislerdir, ama bunlar, E
seceneginde belirtildifi gibi, dinozorlarla
ilgili teoriler degil, Avustralya'nin '
konumuyla iigili teorilerdir. Parcadalki
“They were the world's best impressions

of a dinosaur's two-ton footfails.” ifadesi,

D segenegindeki sonucu gikarmamizn

miumkin kilmaktadir. Dogru yamt D

secenegidir.

42- Parcada, bu bulusun dnemli oldugu
¢link( bu bulus sayesinde,
Avustralya'da dinozorlarn yasanus
oldugu konusunda ilk kanitlarin elde
edildigi vurgulanmalkiadir. Bu ifadeyi A
secenefinde bulabilivoruz. Dogru yami A
secenegidir.

17
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The origins of biography are to be found in early legendary accounts of the Greek,
Germanic and Celtic heroes. Another early type of biography is the records of the
teachings and deeds of wise men. The accounts of the life and teaching of Socrates
given by Plato and Xenophon may be regarded as a development of this kind of
record. The interest of the Socratic dialogues of Plato is philosophic rather than
biographical, but the Memorabilia of Xenophon, though not a biography in the
modern sense of the word, comprises a series of sketches of the great philosopher
with intimacy and vividness. The first European author, remembered primarily as a
biographer, is Plutarch, a Greek philosopher who lived under the Roman Empire.
His Parallel Lives on ancient Greek and Roman statesmen and soldiers is one of the
most fascinating works of antiquity and influential in the European biographical
tradition. Moreover, he seems to have been the first author to distinguish sharply

between biography and history.

43- It is pointed out in the passage that

the first true example of biography in
the modern sense is to he found in ...

A) the stories of Greek and other heroecs
B} Xenophon's Mermorabilia

C) ancient legends

D) Plato’s dialogues

E) Plutarch's Parallel Lives

44-According to the passage, Plato's

account of Socrates, unlike the one
given by Xenophomn, ...

A) is very critical of the great
philosopher

B) puts the emphasis on the philosophy
of Socrates

C) is full of fascinating details about the
life of Socrates

D) was the model for Plutarch when he
wrote his Parallel Lives

E) is commonly regarded as the first
important example of biographical
writing

45- We undersiand from the passage that,

in his Parallel Lives, Plutarch ... .

Al is primarily concerned with the
portrayal of people themselves, but
not the events of their times

B} concentrates on life and society in
ancient Rome

C) gives priority to statesmen rather than
to soldiers

D) includes his own philosophy of life in
his accounts of the lives of others

E)} compares the Greek and Roman
attitudes towards politics and military
affairs

(YDS 2001}

43-Parcada. Plutarch'in 6zellikle biyografi
galismalanyla tanman ilk Avrupah
oldugu ve Parallel Lives adh eserinin
Avrupa biyografi geleneginde etkil
oldugu belirtiliyor. Aynica, tarih ile
biyografiyi kesin olarak birbirinden
aywran ilk kisi olmasi da, bugiink(
anlamuyla ilk gercek biyografi
grneklerinin "Parallel Lives"da
bulunabilecegini gésteriyor. Bu
durumda dogru yanit E secenegidir.

44- Pargada, Plato’'nun Socrates ile ilgili
yazdiklarinin biyografik olmaktan ¢ok
felsefi oldugu acik bir bicimde ifade
ediliyor. Dogru yamt B segenegidir.

45- Parcada Plutarch'in biyografi ile tarihi
birbirinden ayirt eden ilk kisi olarak
tamimlanmasi, onun "Parallel Lives“da,
kisilerin icinde yasadiklarn dénemde
gelisen olaylara degil, kendi yasamlarma
yogunlastifiru gosteriyor ki bu ifadeyi A
seceneginde buluyoruz. '
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The job of check-in clerks at any airport is not a parlicularly interesting or
salisfying ene. They simply have to check the tickets of passengers, and take their
luggage. The work is mechanical, repetitive and very tiring. The only variation in
the routine occurs when things go wrong — when {lights are delayed or when they
are cancelled due to such things as bad weather, sirikes or technical problems.
Then the check-in clerks are in the unforlunate position of having to face the angry
passengers though the faull is not theirs and they can do nothing to put things

right.
46- We understand from the passage that 46-Hava limanlarindaki kontrol
the work check-in clerks does ..... , memurlarimn isi parcada, tekdiize,

silio: ve yorucu olarak tanmmlanmyor. Bu

A) is always greatly appreciated by the anlam E secenefiinde buluyoruz.

passengers

B} varies greatly from day Lo day which
makes it more enjoyable

C) requires a great deal of skill and
creativily

D) involves very little contaci with
passengers

E) is hoth tedious and exhausting

47- Parcada, kit hava, grev ya da teknik

7-According to the sage, ber of
4 ccorcing to passage, a number sorunlar gibi bir dizi nedenle ucuslarn

reasons may lead to ...... . _ i
ertelenebildifi ya da iptal edilebildigi
A} passengers wishing {o change the ifade edilmis. Aym anlanu C segenefinde
dates of their flights gorliyoruz.,

B) a strike among the check-in clerks

C) the postponement or cancellation of
flights

D} the loss of the luggage of passengers

E) overcrowding at airports

48-1It is pointed out in the passage that 48- Parcadaki ifadeye gore. hava
when serious problems affecting limanlarinda sorun qktif zaman 6fkeli
flights arise at airports, ..... . yoleularla kars: karsiya gelmek zorunda

kalan, kontrel memuriandir. Bu anlam

A} passengers usually wail patiently for veren ifade B secenegidir.

the situation to improve

B) it is the check-in clerks who
encounter the protesting passengers

C) passengers are immediately notified
by check-in elerks

D) it is {he primary responsibility of
check-in clerks to solve them

E) check-in clerks are required to
explain, in detail, what has caused
them

(YDS 2001)
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The fairy stories of the Danish writer Hans Christian Andersen were not written
only to entertain; they all have a moral, or a message, or at least put {forward a
serious idea. These ideas, however, are always very simple, so even quite small
children can understand them and enjoy them. Andersen often presents opposites
such as good and evil, truth and falsehood, or appearance and reality. We see this
last contrast in the story of The Ugly Duckling. To the ducks he appeared ugly. But
the reality was he grew up to be a beautiful swan. This is another characteristic of
the stories: they offer hope. The future may be so much hetter than the present.
Most of the tales had been told to children before being written down. so they have
a natural, easy, oral style which makes them very successful among children in all
countries.

49- It is clear from the passage that,

49- Parcarnn biitlinfinde, Andérsen'in
though Andersen wrote his stories for
children, ........ . bir dille yazildhg vurgulaniyor. Bu

nedenle B ve D secenekleri dogru

masallanmn ¢ocuklar icin ¢ok anlagihir

A} it is only the children of his own

country, Denmark, who really enjoy

them
B) they are mostly too complex for
children to understand

C) they all say something worth saying

D) there is a great deal in them that

children cannot understand or enjoy
E) they are only really popular among

adults

50- According to the passage, one idea

that is often found in Andersen's
stories is that ........ .

A) children should be taught how to
protect wild life

B} evil and falsehood will be punished
C) one should not look for happiness

and entertainment in life

D) appearances are not important and

should be disregarded

E) one can always hope that good times

will follow bad ones

51- We understand from the passage that

the style of these stories ........ .

A) is so heavy that very few children can

enjoy them
B} is ideally suited to children

C) is extremely simple, but most of the

ideas are not
D} is so complex that a majority of

children find it very hard to follow

them ! .
E) changes so often that the stories
become difficult to read

{fYDS .;2002}

50-

51-

olamaz. Parcanm son ciimlesinde, bu
masallann biittin diinya gocuklarina
hitap ettigi ifade ediliyor ki boylece A
segenegi de dogru degildir. E segenefi
de dogru olamaz ¢iinkii parcada
yetiskinlerden hig sdzedilmiyor.
Degru yamit C secenegidir.

A seqenegindeki ifadeye parcada hig
deginilmiyor. B secenegindeki "evil” ve
"falsehaod"” ifadeleri par¢ada yer ahyor
ancak bunlarin cezalandinlmas: diye
bir ifade yok. C secenegi bir
urnutsuzluk ifade ediyor ki parcada
masallann umut 6gesini de icerdigi
belirtiliyor. D secenegindeki
“appearance” ile ilgili yorum da parcada
yer almiyor.

Dogru yanit E segenegidir.

Parcann bittintinde, masallarin ¢ok
basit ve goculdar icin uygun bir dille
yazildigi vurgulamiyor. Bu ifadeyi B
segenefinde buluyoruz.
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Of all Jane Austen's novels, Pride and Prejudice is probably the best-known and the
most-loved. This may be partly because if has been filmed several times, but more
important is the fact that the characters in it are so real and alive. They are also
extremely attractive, in spite of their faults. Perhaps they are attractive because of
their faults, for their faults make them amusing to the reader. It would not be at all
pleasant to have a mother as lacking in sense as Mrs Bennet is, or an aunt as
confident of herself and as insensitive to the feelings of others as Lady Catherine is.
But, as they are at a sale distance from us, these and other "terrible” characters

give the novel much colour and variety.

B2-

53-

b4-

According to the passage, the most
likely reason for the popularity of
Pride and Prejudice is ......... .

A) the characters, who delight the
reader with their vitality and life-like
porirayal

B) that the films made of it have been
very well produced

C} that the bad characters get
punished and the good ones
rewarded

D) the comic attitude to life that it
EXpresses _

E) the simple style in which it is
wriilen

The point is made in the passage
that in real life ........ .

A} a person’s faults needn't disturb us
if we don't get too intimate with that
person

B) a person's faults are less noticeable
than they are in a novel

C) one usually forgives the faults of
one's own family

D) a person’s {aults may annoy us
whereas in a novel the same faults
may amuse us :

E} it's best to ignore people's faults but
in a novel it's best {o enjoy them

It is clear from the passage that Lady
Catherine ......... .

A} and Mrs Bennet are extremely good
friends

B} has constantly hurt Mrs Bennet's
feelings

C) cares for no one but herself

D} is the main character in Pride and
Frejudice

E} is definitely the worst character in
the novel

{(YDS 2002}

B2-

53-
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Parcada, Pride and Prejudice popiiler
yaparn en énemli nedenin karakterleri
olabilecegi vurgulamyor ki bu anlami A
seceneginde buluyoruz.

Pargada, gercek hayatta insanlarm
yaptift hatalann hosumuza
gitmeyecegi, ama romantardalkd
kahramanlann yaptigi hatalarin bizi
eflendirdigi vurgulaniyor. Bu anlam D
seceneginde buluyoruz.

Parcada Lady Catherine, kendinden
son derece emin ve baskalarmnin
duygularina kars: duyarsiz biri olarak
tammlamyor. C segenegi bize bu
anlam: veriyor.

21
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Laughter's social role is definitely important. Today's children may be heading for a
whole lot of social ills because their play and leisure time is so isolated and they
lose out on lots of chances for laughter. When children stare at computer screens,
rather than laughing with each other, they get so involved that they forget to laugh
at all; this is contrary to what's natural for them. Natural social behaviour in
children is playful behaviour, and in such situations laughter indicates that
make-believe aggression is just {fun, not serious. This is an important way in which
children form positive emotional ties, gain new social skills and generally start to
move [rom childhood to adulthood. Parents need to be very careful to ensure that
their children play in groups and laugh more.

55-

56~

The passage emphasizes the point
that ...... .

A) children need to take part in group
activities

B) children seem to have grown more
aggressive since the computer
entered their lives

C) the computer helps speed up a
child's emotional development

D) computer games have a beneficial
effect on social behaviour

E} Jaughter does not often have a social
role

As we learn from the passage, one of
the drawbacks of compnuters for
children is that ....... .

A} there is almost no difference
between leisure time and school
{ime

B) children get no pleasure out of their
computers

C) a great deal of Ume is wasted

D) computers tend to make children
isnlated and less sociable

E) they make the activities of children
and adults too much alike

According to the passage, children
need to Iaugh ..... .

A) otherwise they will become
ill-balanced adults and isolate
themselves from others

B) especially when they are not
involved in group activities

€} and computler games can provide
the opportunity

D) and usually manage {o do so even
when they are being really
aggressive

E} because this helps them to form
relationships with others and grow
up emotionally

(YDS 2003)

55-

E secenegindeki ifade parcada
vurgulanan disiincenin tam tersi bir
anlam vermektedir. C ve D
seceneklerinde, bilgisayarin cocugun
sosyal gelisimi i¢in olumlu oldugu ifade
edilmektedir ki, parcada bilgisayar
oyunlannin olumsuz etkilerinden stz
edilmektedir. B segenegindeki ifade ise
parcada yoktur. Parcada vurgulanan
disiince, gocufun gillmesi gerektifi ve
bu nedenle grup iginde yer almas:
gerektigidir. Dogru yamt, A secenegidir.

Bilgisayarin cocugun gelisimi
tizerindeki olumsuz etkileriyle ilgili
parcada gegen ifade, cocugu izole bir
yasam strmeye itmesi ve dogal sosyal
ortamlardan uzaklagtirmasidir, Bu
anlanmm D seg¢eneginde buluyoruz.,

Parcanin bliitintinde, gilmenin, sosyal
ve duygusal acidan cocugu gelistirdigi,
bu nedenle ¢ocugun gitlmesi gerektigi
belirtilmekiedir. E secenegi bize bu
anlam vermekiedir.
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Hector Hugh Munro was born in Burma, the son of a police inspector-general. His
mother died when he was two, and he was sent home to Scotland to live with
relatives. His formal education ended with grammar school, but his father tutored
him on extensive travels. In 1893, his father got him a posi with the Burma police,
but his delicate health forced his retumn to Britain. There he took up a career in
writing, and il was while doing political sketches for The Westminster Gazette that
he adopted the pen-name of Saki. After serving for a time as a [oreign
correspondent for The Mormning Post, he returned to London to devote himself to the
wriling of stories and niovels, When World War 1 began, he enlisted as an ordinary

58-

59-

60-

soldier in the army and was unfortunately killed in action in 1916.

We understand from the passage that
Munro's father ..... .

A} contributed a great deal to his son's
education

B} did not want his son to work in
Burma

C} was one of the founders of the
Burmese police force

D} was a greatl traveller himself and
encouraged his son 1o follow his
example

E)} tried to persuade his son not to join
the army in World War 1

It is pointed out in the passage that
Munro ..... .

A} comrmanded a unit of troops in
World War |

B} adapied himself well to the climatic
conditions of Burma

C) disappointed his father with his
decision 1o return to England

D) was not only a journalist but also a
writer of fiction

E) chose the name "Saki" because it
was an easy name for his readers to
remember

According to the passage, Munro,
before he became a writer, ..... .

A) worked as a journalist to cover
events of World War I

B) spent all his time in Scotland with
relatives

C} travelled very little, but read
extensively

D} enjoyed exceptionally good health

E) served, for some time as a
policeman

fYDS 2003}

58- Munro'nun babas: ile ilgili parcada

gecen ifadeler, polis mifettisi oldugu,

uzun seyahatler sirasinda oflunun

egitimi ile ilgilendigi ve Burma polis

tegkilatinda ona bir is sagladif

bicimindedir. Bu durumda A segenefi
dogru yamttr.

59- Munro I. Diinya Savasina siradan

(riitbesiz) bir asker olarak katildig icin,
A secenegi dofru olamaz. Saghk
nedeniyle Ingiltere'ye déndiigiine gére,
Burma'nin iklim kogullarnna uyum
saglayamadifi anlasihyor. Dolayisiyla,
B de dogru olamaz. Cve E
seceneklerindeki ifadeler parcada yer
almammstir. Dogru yamt D secenegidir.

60- Yazar olmadan énce Munro'nun yaptg

seyleri goz éniine ahrsak, dofru yamtin
E oldugunu goértiriiz.
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The playful little mongoose is renowned as a skilled and courageous snake fighter. [t
relies on speed, agility and a growth of dense, loose hair into which the snake may inject
venom without breaking the mongoose's skin. Mongooses are not immune to venom, as
is popularly believed. nor do they seek and eat a herbal remedy if bitten. They can,
however, withstand unusually large doses of venom. In the late 1800s, the mongoose
was introduced into Hawaii and the West Indies to control rodents and snakes. The
results were disastrous, however, because the mongooses, in pursuit of food, killed
many useful native animals. Today the importation of mongooses into the United States
is strictly regulated.

1- We learn from the passage that mongooses .......... .

A) are almost impossible to catch because of their speed

B) can cure themselves with herbs when bitten by a snake

C) have an in-built immunify against snake venom

D) feed mostly on herbs, though they may eat other animals occasionally
E} are not easily affected by the harmful effects of snake venom

2- It is implied in the passage that the United Statfes strictly controls mongoose
imports because they ........ ‘.

A) are already found there in huge numbers

B) have caused some species of snakes to become extinct
C) have had a harmiul effect on wildlife

D} inject poisonous venom, which can be fatal

E) give damage to cultivated plants

3- According to the passages, in the late 19th century, .......... .

A) Hawaii began the export of mongooses

B) mongooses were imporled into the West Indies
C) the US banned the importation of mongooses
D) several native animals became extinet in Hawaii

E) mongoeoses successfuily helped control snakes in the West Indies
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The US physician David Satcher's renowned dedication to public health and his
career-long emphasis on providing poor minorities with better medical care brought him
"a nomination for the post of United Stales surgeon general in 1997. Shortly before his
nomniination, Saicher, an African American, prompted the United States government to
apologise Lo victims of the infamous Tuskegee experiment. This federally sponsored
program spanned four decades and left 400 African American men untreaied for
syphilis. This and other contrbutions to the quality of public health, including Satcher's
successful command of the Centers for Disease Control and Prevention (CDC]), led to his

confirmation as surgeon general in 1998.

4- According to the passage, David Satcher was well known for ..........

A) his neglect of poor African Americans

B) his apology to victims of a medical experiment
C} being devoted to improving public health

D} his new treatment for syphilis

E) the aid he gave to the US surgeon general

5- The author points out that Satcher's work .......... .

A) particularly improved health services for men

B) did not prevent many patienis from being left untreated
C) concentrated on help for impoverished African Americans
D) focused on improvements to health care for the poor

E} consisted of experiments carried out gver 40 years

6- According to the passage, the Tuskegee experiment .......... .

A} was conducted by a group of scientists with David Satcher their leader

B) affected David Saicher's popularity negatively for a while

C) was started with good intentions but it ended in a lot of suffering for the patients
D)} led to the deaths of 400 African American men

E) was carried out with the knowledge of the American government
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Among ancient civilisations, certain formalities were expected of states in initiating
wars. In Greece and Rome, a just war was one in which the parly starting it had
adequate cause and motives. From the 18th century through World War I, the concept
of a just war was abandoned except in theory, and nations became the judges of their
own activities in matiers of war. The use of a declaration of war was for the most part
abandoned. Although The Hague Convention of 1909 required a formal declaration of
war, this requirement was ignored by the Germans, ltalians and Japanese in World War
II. When the United States declared war in 1941, it was only fulfilling a legal formality,

because the nation had already been attacked.

7- It is clear from the passage that the Germans, Italians and Japanese in World
War Il .......... .

A) followed ancient traditions in formality

B) disregarded the Hague Convention about the declaration of war
C) fullilled the requirements of a just war

D) iought on the same side, forming the Allied Powers

E} were judged to have adequate cause to attack the United States

8- The author points ocut that from the 18th century on, .......... .

A) particular formalifies were expected from countries declaring war
B} countries usually declared war before taking action

C} it was the Germans, ltalians and Japanese who initlated most wars
) the US were mostly in conflict with Japan

E) countries began to self-evaluate their actions of war

9- The passage focuses on .......... .

A) the Japanese invasion of the US

B} the just wars fought between Greece and Rome
C) the US declaration of war against Japan in 1941
D) the details of the Hague Convention

E) histarical changes in attitudes to the declaration of war
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Accarding to some critics, Mark Twain was more than a humorist. Behind his mask of
lhumeour lay a serious view of life. Tragedy had entered his own lile in the poverty and
early deatl: of his father, the loss of a daughter and his bankruptcy. His short story, The
Man That Corrupted Hadleyburg, published in 1900, which showed greed at work in a
small town, is an indication of Twain's dark side. The controversial Hucldeberry Finn,
which tells the life of Huckleberry Finn, a reckless boy who runs away from home with
Jim, a runaway slave, and of the {wo becoming involved in a series of lively incidents
connected with slavery troubles before the Civil War, was meant to be a children’s book, i
but it has been periodically banned in schools or libraries because of alleged racial
refllections. The book can be read by children, but it has elements of heartbreak and

wisdom that can be apprectated best by adults. On the other hand, Tom Sawyer is

primarily a juvenile book bui one that can alse be read with pleasure by adults.

10- It is understood from the passage that Huckleberry Finn and Tom Sawyer

...........

A) are too complicated for children o appreciate
B) depict life in America before the Civil War

C} are purcly humorous boeks

D) appeal to both adulls and children

E} have both been banned in schools

11- According to the passage, Mark Twain's The Man That Corrupted Hadleyburg

...........

A) shows how humorous Mark Twain was

B} illustrates Twain's more serious side

C) was heavily criticised by some

D) has been banned periodically from schools

E} is in greatl parl auiobiographical
12- We learn from the passage that Mark Twain .......... .

A} wrote books for aduits but his leading characters were children

B} was misundersiood as a dramatis{ when he was in faci a humorist
C} did not earn much though he was a well-known writer

D} experienced misfortunes in his personal life

E) first drew atieniion with his book The Man That Corrupted Hadleyburg
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Training birds for hawking is truly an art. The falcon may be taken from the nest before
it has learned to fly, when it is called an eyess or eyas, or it may be trapped [ull-grown
and tamed. It is then called a haggard or blue hawk. A hood is used in taming to cover
the falcon’s head and a brail, or strip of leather, is slipped over the wings to prevent
fluttering. Jesses, or strips of light leather with bells attached, are fitled to the falcon’s
legs. A leash is {astened to the jesses. The bird is kept in a dark room for perhaps 72
hours. Always there is someone In the room, smoking a pipe or cigars or cidareites to
remind the bird of man's presence. The smoke also seems to calm the bird. Then a
small candle is lighted. Gradually the room is made brighter so that the bird becomes
accustomed to its surroundings. Later it learns to feed from the hand and loses its fear

of its new master.

13- The author of the passage describes in detail .......... .

A) how birds are frapped

B} how birds are released to catch prey

C) the equipment used for taming birds

D} all the types of birds suitable for hawking
E) the types of food given Lo famed birds

14- According to the passage, bird training is .......... .

A) extremely dangerous
B) a real skill

C) considered cruel

D) a dying art

E) easier with young birds

15- It is clear from the passage that after a period of about three days, .......... .

A} tamed birds will feed {from a mamn's hand

B) birds are exposed to a smoke filled room

C} light {s gradually introduced to the bird's environment
D) birds are released into the wild

E) a tamed bird is called a blue hawk
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At times, seemingly practical conservation efforts turn out to be mistakes. Cougars, or
mountain lions, and deer were once abundant in Grand Canyon National Park and
Kaibab National Forest. Because the cougars preyed on the deer. hunters were allowed
to shoot the cougars until only a few were left. With their chief enemy gone, the deer of
the area increased so rapidly that they consumed more forage than the Kaibab could
produce. The deer stripped the forest of every leaf and twig they could reach and
destroyed large areas of forage in the Grand Canyon National Park as well, The famished
deer grew feebie, and many defective youngs were born. Finally, deer hunting in the
Kaibab was permitted, in the hope that the size of the deer herd would drop until the
range could accommodate it. In addition, the few surviving cougars were protecled io
allow them to multiply. They then carried on their ecological function of keeping the

herd size down and of killing those deer not vigorous enough to be good breeding stock.

16- The author of the passage implies that initial conservation efforts in Grand
Canyon National Park and Kaibab National Forest ........... .

A) saved these places from destruction

B} saved cougars from extinction

C) caused a decrease in the numbers of deer
D) were a greal success

E} led to undesirable consequences

17- It is clear from the passage that cougars in the Grand Canyon National Park
and Kaibab National Forest ..........., .

A) feed by hunting deer

B) grew feeble when numbers were allowed to increase
C) are prey to mountain lions

D)} have always been protected

E) are not strong enough to make good breeding stock
18- We can conclude from the passage that .......... .

A) changing the balance ol nature artificially can have devastating effects

B) cougars had o be controlled in order for deer herds in the area to survive
C) the Kaibab National Forest will never recover from the ecological mistake
D) the conservationists correctly predicled the outcome of the project

E} deer hunting in the Kaibab National Forest has never been legal
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Early in the period when the cily of Rome was spreading its rule over Italy, one of its

imost nolable enemies was King Pyrrhus of Epirus, a country in northwestern Greece.,

When war broke out between Rome and Tarentum, a Greek city in southern ltaly, he

accepied a call for help [rom the Tarentines. He crossed the Adriatic Sea in 280 BC with

aboul 20,000 men and some clephants and fought the Romans at Heraclea. The

Romans had never seen elephants before, and the sirange beasts helped Pyrrhus to win

a biloody baltle. His losses, however, were great. He won another battle at Asculum, and

it is said that when congratulated on his success, Pyrrhus replied that another such

viclory would destroy him entirely. Today a victory won at excessive cost s still called a

Pyrrhic victory.

19-

20

We learn from the passage that the elephants .......... .

A) forced the Romans to surrender without much resistance
B) were commeoenly used in battles in ancient times

C) made it hard for Pyrrhus to cress the Adriatic Sea

D} were a new sight to the Romans

E) were first used in a battle by the Romans at Heraclea

One fact given in the passage is that Pyrrhus's victories at Heraclea and

Asculum .......... .

A} were won mainly due to his elephants
B) expanded the power of Rome

C) gave rise to a current expression

D) meant to accomplish the impossible

E) aided the spread ol Rome into the Greek cities

it is obvious from the passage that King Pyrrhus ............ .

A) prepared his own collapse with such bloody victories

B) became the ruler of Tarentum after he won the war at Heraclea
C) was not content with the way he won his victories

D} was particularly successtul in commanding sea battles

E) was the only Greek ruler who resisted the Roman invasion
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Man first crossed the border of space in a curicus vehicle that was neither wholly
spacecrall nor wholly airplane. It funclioned as a manned rocket, capable of arcing
briefly into the very lowest {ringes of space, and as an airplane, landing with wings,
rudder, stabiliser and wheels. It was the X-15. Conceived in the early 1950s and
designed to reach altitudes of more than 50 miles and speeds of more than 4,000 miles
per hour, the X-15 first flew in September 1958, Three were built. In nearly 200 flighis
between 1959 and the end of the program in 1968, the X-15 returned information that
was of great value in the design of both spacecraft and supersonic aircraft. It reached
an altitude of 67 miles and a speed of more than 4,500 miles per hour. Military pilots

who flew the X-15 to heights of more than 62.5 miles were regarded as astronauts.

22- According to the passage, the X-15 ......... .

A) was an airplane from some aspects and a spacecrait {rom others
B) was unsuccessful in advancing space exploration

C) was the [irst unmanned spacecraft

D} travelled far into space for only three times

E) crossed the border of space in 1968 {or the first time

23- It is clear from the passage that information obtained during X-15 flights

-----------

A) related to condilions at a maximum altitude of 50 miles

B} helped aircralt designers much more than spacecraft designers

C) provided only a limited amount of data for use in spacecraft design
D) was to be used extensively in military operations

E} was usefid to aircralt and spacecraft designers

24- One can conclude from the passage that not all military pilots who flew the
K15 e

A} exceeded the altitude of 62.5 miles to be called an astronaut
B} were successful in collecting data in the X-15

C) were eager to be sent inio space in the X-15

D) believed in the necessity of the {lights they made into space

E) found the X-15 a curious spacecrafl
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Lizards have a variety of behaviour patterns to protect themselves from predators,
including birds, snakes, mammals and other lizards. Tactics include camouflage, speed
and secretiveness. An interesting defensive behaviour of certain large lizards of the
American tropics is the use of their long tails as a whip o beat anything threatening.
But lizard tails are used most effectively to escape predators through trickery. The tails
of many species break off when touched. The broken tail twists and moves from side to
side, diverting the attention of the predator while the lizard escapes. The loss of the tail
is only temporary, for tail regeneration is characteristic of most lizards. The new tail

may be shorter than the original but is also breakable.

25- According to the passage, one means by which lizards protect themselves

from predatfors is by .......... .

A} ejeciing poison .

B) disguising themselves

C) burying themseives

D) producing ferocious noises

E} standing siill when under threat
26- The author draws attention to the fact that ........... .

A) lizards feed on birds, snakes, mammals and other lizards

B) lizards use a number of behaviour patterns to catch their prey
C} some lizards fool their predators by losing their tails

D) lizards in the American {ropics are the best at camouflage

E) only a very speedy predator can catch a lizard
27- It is clear from the passage that a lizard's tail .......... .

A} can be lost permanently during an attack

B) can be attached back to its former place when it is broken
C) is viltal to its survival in the wild

D} keeps growing if it doesn't break oif vccasionally

E} continues {o move even after it's been detached
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In Arabic legends, the roc, or rukh. was a gigantic bird with two horns on its head and

four humps on its back and was said 1o be able (o carry off elephants and other large
animals for food it is mentioned in the famous collection of Arabic tales, The Thousand
and One Nighis and by the Venelian explorer Marco Polo, who referred to it in
describing Madagascar and other istands off the coast of Eastern Africa. According to
Marco Polo, Kublai Khan inquired in those parts about the roc and was brought what
was claimed to be a roc's feather, which must really have been a palm leaf. Sinbad the
Sailor also told of seeing iis egg, which was "50 paces in circumference”. Thought of as

mortal enemy of serpents, the roc is associated with sirength, purity and life.

28- The author seems almost certain that ............. .

A} an average-sized bird resembling the roc existed in Madagascar
B) the roc’s egg measured 50 paces in circumference

C} what was brought to Kublai Khan was actually a palm leaf

D) Sinbad the Sailor personally met the gigantic bird

E} there were unusually large birds in Madagascar in the past
29- According to the passage, the roc .......... .

A) was reportedly seen by Marco Polo
B) had feathers resembling palm leaves
C) appears in several tales

D) is associated with greed

E) forms the principal character in The Thousand and One Nights
30- As described in the passage, according to legend, the roc .......... .

A} could fly off with animals as large as elephants
B} {ed mostly on snakes

C) was once atlacked by Sinbad the Sailor

D) often carried off sailors

E) was jus!{ an imaginary creature

33
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The major opera composer in England in the early 18th century was not an Englishman
bui a German. George Frideric FHandel wrole his first opera in Hamburg in 1705, but he
had a greater triumph in London when his ‘Rinaldo’ was produced. In the next 40 years,
Mandel wrote more than 35 operas, many of which he produced with an opera company
he himself ran. Handel laboured almost exclusively on pieces of this sort {rom 1711 to
1737, when he turned his attention to oratorios. While his oratorios were long thought
to contain Handel's finest and most popular music — Handel's ‘Messiah' is noi only his
mast popular oratorio but one of the most pepular works of any sorl — in the late 20th

century, his operas were finally recognised for their superior imagination and insight.

31- We learn from the passage that between 1711 and 1737, ........... .

A) Handel concentrated mostly on oratorios

B} almost no other British composers wrote opera apart from Handel
C) Hancel ran his own London-based opera company

D) Britain produced few composers as famous as Handel

E) Handel wrote hardly any sort of music other than the opera

32- We understand from the passage that in the early years of his career, Handel

.............

A) was busy trying to form his own opera company

B) was influenced by both German and English composers

C) could not make a choice between operas and oratorios

D} attracted more attention in England than in his native land

E) was hardly known in his native land, Germany

33- We can conclude from the passage that until modern times, Handel's operas

..............

A) remained undervalued for their creativity
B} were thought to be superior to his oratorios
C) were nol popular outside of England

D) had rarely been performed in public

E) were regarded as the best examples of that type
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Every year aboul a dozen nations send scientisls to Aniarctica to do research. In the

Antarctic summer, about 2,500 people are in the region for this work. They operate

research stations and camps; travel in airplanes, helicopters and snowmobiles to the

areas that they need to study; and operate ships for resupply and oceanic research. In

winter, fewer than 1,000 people remain to operate about 30 research stations scatlered

around the continent. The winter inhabifants are isolated for several months at a time

because it is too cold for anyone to get {o them, even in airplanes. Biclogists, geologists.

oceanographers, physicists, astronomers, glaciologists and meleorologists conduct

experiments there that cannot be duplicated anywhere else.

34-

36-

The passage gives us the information that the summer population of

Antarctica .......... .

A) includes tourists as well as scientists

B) is sometimes too great to be accommodaied comfortably there

C} increases depending on the requiremnents of the specific research
D) is more than deuble that of the winter

E} may face isolation occasionally due to the weather

According to the passage, Antarctica offers ........... .

A) luxury accommaodation for scientists

B} a unique environment for scientific study
C) excellent transportation facilities

D) holiday camps in summer

E} year round aceessibility by airplane

The author describes how in winter scientists ............ .

A) don'i carry out any research

B) are involved mostly in the oceanic research
C} come logether in one research station

D} are cut off from the outside world

E} can only be reached by airplane

35



36

ELS - YDS

A curiosity during the mid-19th century was the arrival on the Western scene of what
has been called the "American Camel Express”. About 1850, Bactrian camels were
imported to haul salt between several California and Nevada towns. On February 1,
1856, 33 dromedary camels were landed at Indiancla, Tex. Laier 41 more camels were
added to this group. The camels had been imported by the United Stales Army as an
experiment in freighting and communication in the arid Southwest. On an expedition to
open a wagon road across Arizona from Fort Defiance to Calilornia, the camels were said
to have proved their worth. The Army later abandoned its experiments, however, and the
camels were left to shift for themselves on the desert. They caused complaints by
stagecoach drivers whose teams upon seeing the animals would {requently bolt in panic.

The camels were seen roaming the Western desert as late as 1912,

37- It can be inferred from the passage that .......... .

A) camels were used by the Army in the Southwest during military battles

B) the Army’s experimenis with camels were not totally unsuccessful

C) camels could only survive in the Southwest in the USA

D) camels became too abundant in the Southwest to threaten the wildlife there

E) today there are no camels living in the USA
38- The author points out that in the US, ............ .

A) camels are mainly used in Arizona today

B} the sight of camels would cause sudden alarm and fear
C) wild camels still exist in the Western desert

D) camels were used to pull stagecoaches

E} there are more Bactrian camels than dromedary ones

39- It is implied in the passage that camels were introduced to the USA because
they .......... .

A} were thought to be suiled to the climate of the Southwest
B) were economical in hauling heavy goods

C) were strong enough Lo pull the wagons across the deserts
D) had the ability lo reproduce quickly

E) were easily trained to perform certain tasks
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Norman Maclean's book about the infamous Mann Gulch fire of 1949, Young Men and

Fire. published in 1992, received renewed attention in the aftermath of a similarly

disastrous fire in the summer of 1994 in Glenwood Springs, Colorado. Maclean had seen

the elfects of the Mann Gulch fire in 1949 and the memory of the destruction stayed
with himn. He spent the last 14 years of his life studying the tragedy, which killed 12 of
the 15 smokejumpers. whose ¢lite crew had been called in to fight the fire. The
manuscript was left unfinished at Maclean's death in 1990, but it was subsequently
edited and published posthumously. The book combined Maclean's firefighting and
forestry experience with {he atlention to detail that came with his years as a scholar,

teacher and storyteller. .

40- Using the details in the passage, we could best describe Norman Maclean as

-----------

A) a smokejumper

B) primarily a book publisher

C) a victim of the Glenwood Springs fire
B} a productive writer

E) a man of many lalents
41- The author informs us that the fire in 1994 in Glenwood Springs .......... .

A) prom;ﬁted Maclean to wrile a book

B) killed a dozen smokejumpers

C) is described in the book Young Men and Fire

D) was as catastrophic as the Mann Gulch fire in 1949

E) started in the same way as the Mann Gulch fire in 1949

42- It is clear from the passage that Norman Maclean's book Young Men and Fire

...........

A] was wrillen just after the Mann Gulch fire of 1949

B) gives details aboul the lives of the 12 smokejuimapers killed in the fire
C) was a piece of fiction based on the Glenwood Springs fire

D) describes courageous attempts to put out the Glenwood Springs fire

E) came out two years after his death
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Alter the use of radio signals for navigalion. pilots no longer needed to see natural
landmarks, bonfires or lighted beacons to navigate their planes. But even with radio
signals {o guide them, pilots could not safely fly into clouds or bad weather. A better
system was still needed. Pilots who could not see outside their airplanes often suffered
[rom vertigo, or dizziness. Without seeing the horizon, pilots did not know if they were
climbing, diving or turning. Sometimes they llew upside down out of a cloud while
thinking they were flying straight and level. The invention of flight instruments in the
early 1930s enabled pilots to know if they were flying straight and level. In 1933 the
Uniled States government established standards and rules for instrument {lying and
required airline pilots to demonstrate their skills while looking only at the instruments
in the plane. These rules, which have been designated Instrument Flight Rules, were

added to the see-and-be-seen rules, which are now known as Visual Flight Rules.

43- According to the passage, the rules known as the Visual Flight Rules .......... .

A) replaced an earlier set of rules

B} concerned only the sighting of distinctive features of the landscape or manmade
fires

C) were less reliable than the 'see-and-be-seen' rules

D) are unreliable in fog or clouds

E} sometimes resulted in pitots flying the wrong way up

44- Before the invention of flight instruments, when outside surroundings were

not visible, pilots .......... .

A} used radio signals to fly straight and level in poor weather
B) applied to their experience to fly safely

C} frequently experienced ill effects

D)} relied on the Visual Flight Rules

E) instinctively knew when they were climbing, diving or turning
45- The author points out that before radio signals were used, .......... .

A] fires had to be lit in bad weather to help navigation

B) pilots had to fly close to the ground in order not to lose their way

C) pilots used distinctive fealures of the landscape or signal fires to find their way
D) pilots had to rely only on flight instruments

E} being a pilot required exceptional skills
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Mississippi had been held back by its reliance on an agriculture-based society.
self-satisfaction for an unusually large dependent population and a reputation {or
discrimination against African Americans and viclence toward outsiders. Today the
state is defined by its rising standards, {resh aititudes towards the above mentioned
cases and new directions. In 1989 the Mississippi legislature passed four bills that
represented the most aggressive economic development package offered by any staie.
One of the new programs in the package was the creation of tax credils for employers
who provide child care and basic skills training Jor {heir workers. The state has played a
vital role in technological developments in such fields as medicine and space
exploration. The world's {irst human heart and lung transplants were performed at the
Universily of Mississippi Medical Center, a facilily recognised for its pioneering work in

cardiovascular physiology.

46- According to the passage, Mississippi used to be .......... .

A) overpopulated and thus not very well-off
B) a state with no violence at all

C) wasteful in using ils natural resources
D) neither a progressive nor a tolerant state

E} known lor its innovative attitudes and high standards
47- It is made clear in the passage that the 1989 laws included .......... .

4) discriminalory measures against African Americans

B) tax incentives for medical companies

C) provisions for health care services using the latest {echnology

D) benefits {or companies offering day care facilities for young children

E} compulsory training of workers in certain skills

48- We understand from the passage that, although progress in Mississippi was

slow in many areas, ......... .

A) the stale led the field in racial equality

B) the state has a reputation for medical advances

C} no state has a more advanced agricultural industry
D) there are surprisingly low levels of taxation

E) most citizens possess at least basic skills
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The interests of the celebrated Swiss-American naturalist Louis Agassiz ranged from
fishes to glaciers. He was the greatest authority of his day on zoclogy and geology. He
was also an outstanding teacher. Agassiz wrote extensively. delivered popular lectures
on scientific subjects and engaged in expeditions in various paris of the United States
and Brazil. He was the first director of the Museum of Comparative Zoology at Harvard,
olten called the Agassiz Museum. When urged to turn his great scientific knowledge to
financial profit, he impatiently replied that he "had no time to make money.” A few
months before his death, Agassiz had established a summer school of science on the
island of Penikese in Buzzards Bay, off the southeast coast of Massachusetts. This was
the first school for studying science directly from specimens and in close contact with

nature.

49- The author of the passage implies that Louis Agassiz .......... .

A} valued gains in scientific knowledge over money
B) earned huge sums of money through his findings
C) was not an adventurous man

D} dealt with zoology more than he did with geology

E} failed to fuliill his dream of opening a school

50- We learn from the passage that the Museum of Comparative Zoolegy .......... .

A} was frequently relerred to by the name of its first director

B) was the only centre for studying specimens in their natural environment
C) changed its name to the Agassiz Museum alter the scientist's death

D) was the most outstanding museum of its kind

E) did not make a f{inancial profit

51- According to the passage, Louis Agassiz .......... .

A} was not a very efficient communicator

B) rarely documented his work

C) knew more than any other zoologist or geologist al the time
D) had no time {or expeditions outside the United States

E) founded a school, which he named after himself
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The beginning of World War II did not sway Jacques-Yves Cousteau from his
underwater explorations. While still in {he Navy and serving as a spy for the French
Resistance, Jacques and his colleagues began experimenting with hoses, body suits and
breathing devices. They wanted (o creale an apparatus that would allow them to dive
deeper and move freely about the water, to act as a "manfish”, as Cousteau said. He
eventually met engineer Emile Gagnan and together they created the first scuba — or
sell-contained underwater breathing apparatus — diving device, which they called the »_
Aqua-lung. The Aqua-lung, which could feed air to the diver at the same pressure as the [
water, was first tested in 1943, and it was available commercially by 1946. For the first
time, divers were able io swim beneath the sea without being attached to an air hose

connected to a source on the surface.

52- According fo the facts in the passage, in 1946, .......... .

A) Jacques-Yves Cousleau served in the US navy

B} the aqua-lung was [irst tested successfully

C) Jacques-Yves Cousteau met Emile Gagnan

D) Jacques-Yves Cousteau began his underwater experiments

E) one could buy agua-lungs
53- It is clear from {he passage that during World War II, .......... .

A) the French Resistance purchased several aqua-hangs

B) Jacques-Yves Cousteau's experiments were interrupted

C) divers were unable to swim beneath the ocean

D} Coustean worked secretly on the side of the French Resislance

E) Cousteau first became interested in deep sea diving

54- According o the passage, the advantage of the agua-lung over previous diving
methods was that .......... .

A} it could be used during warfare

B) if allowed divers to stay longer in the water
C) divers were free of surface apparalus

D) it was much lighter

E} it was considerably safer
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Fishermen dislike [ish-eating birds, such as pelicans, kingfishers, herons, gulls and
ospreys. Careful studies show, however, that these birds have little to do with the
decline in fishing. Their prey is largely non-game [ishes, including kinds that eat the
slﬁawn or young {ry of the game fish. Likewise, some farmers think all hawks are
“chicken hawks" that raid their poultry yards. Yet most hawks and owls live on rodents,
which are the farmer's worst enemies. Many similar examples might be given to prove
that predatory animals are an essential part of the balance of nature. Most of the ill will
toward them is due to lack of sound knowledge. Fortunately, the value of predators is

gaining recognition.

55- It is the author’s opinion that ......... .

A} hawks are the [armer’s worst enemies

B) predatory birds have been rightly blamed for the decline in fishing

C} fishermen and farmers fully understand the importance of maintaining levels of
predators

D} predators form a fundamental element of the natural environment

E} the aclions of predators destroy the balance of the natural environment

56- The author emphasises that the negative reputation of predators ........... .

A} is caused largely by ignorance

B} is growing all the time

C) is fully justilied

D} stems from the damage they do to the environment

E) is not shared by fishermen and farmers

57- The passage gives an example of ........... .

A} how predators will eventually destroy the environment

B) how ignorance about predators is growing

C) how predators can help control pests

D) how birds of prey are responsible for the decline in game fish stocks

E) other [actors affecting the decline of game fish stocks
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In 1885, Francis Galton began {o study fingerprints and their possible use as a means
of positive identification. Although the thumbprint had been used as a signature in
ancient Limes and crimes had already been solved by means of bloody or greasy prints
left by careless culprits, il was Galton who first systematically examined fingerprints
and proved their uniqueness. After collecting thousands of sets on cards, Galton {found
that they fell into three general categories, but that each bore peculiarities. Equally
important, he learned that prints remained unchanged from birth te death. The main
problem seemed to be devising a classification sysiem, simple yet varied enough to
provide quick retrieval. By 1895 he had refined a flexible system to store some 700,000

sels of fingerprints.

58- According to the passage, when Francis Galton began te study fingerprints,

--------

A) fingerprints had never been used as a source of identification before
B) he was continuing a systematic study begun in ancient times

C) signatures were used {o prove one's identification

D) he was able io establish that every set of fingerprinis was different

¥) only thumbprints had ever been used before for identification

59

According to the passage, Francis Galton discovered that ......, .

A) crimes had already been solved using fingerprints

B] everybody has three different types of fingerprint

C} fingerprints were without exception, extremely strange
D) people have the same fingerprint throughouwt their lives

E} there were thousands of diflerent fypes of fingerprint
60- It is clear from the passage that Francis Galton's major difficulty was ....... .

A) studying the bloody or greasy prints left by criminals on the scenes of crimes
B) crealing a method of storing and locating fingerprints easily

C) completing his studies of the fingerprint fast enough

D) being able to store 700,000 sets of fingerprints by 1895

E) forming a team of assisiants to help him with the grouping of the {ingerprints
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In May 1968, ...., the student revolts began all over the world, streets, factories,
schools, and universities became the stage for a spontaneous demonstration.

A} when B) where
C) why D) whom
E) how

......... the time of his death at only 27, he had established an unshakable
reputation as a brilliant poet, novelist and playwright.

A} Due to B} By
C) Besides Dj After
E} When
I'm afraid we have ......... yogurt to make ayran for ten people.
A) a little B} so much
C} very few D) too little

E) a good deal of

uman aviour is a function of a person's cognitive, emotional an ci
Human behavio a funct fap ! t L 1 and social

capabilities, ......... grow or change over the entire course of the person's life
span.
A} for whom B) whose
C} how D) that
E} which
His father is a famous psychiatrist and is known ......... a great deal of

knowledge about the latest methods of treatment.

A} {o be having B) having
C) to have D) having had
E) have had
Only ......... people have been living in luxury in Argentina, while most of them

have been living in poverty.

A) plenty of B} a good deal of
C) a small number of D) very many
E) a great many

The name of Muhammad Ali, ......... became world heavyweight champion, was
Cassius Clay hefore he converted to Islam.

A) who B) where
C) which D) that
E) when

There are many rebellions breaking out all over the country as people can
......... endure the ever-worsening poverty.

A) afterwards B) no longer
C) no matter D} any more
E) nevertheless
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Basketball, invented by a physical education instructor, is the only major spart
......... is completely American in origin,

A) who B) that
C) why D) where
E} how

In the Asian cookbock I have recently bought, it is also explained ......... you
can buy the exotic ingredients necessary to make the dishes.

A) how much B) to whom
C) where D} why
E) that
Some old friends of ......... are coming to see him tomorrow, so he is planning to
prepare delicious dishes for ......... .
A) he/themselves Bj} his own/their own
C} him/himsell D) himself/they
E} his/them
Wili you please stop ......... me? I am busy ......... the exam papers of the
students.

A} to have interrupied/to check
B} interrupted/to have checked
C) to interrupt/to be checking
D) interrupting/checking

E) to be interrupting/check

It is impossible for her to pass such a difficult exam, ......... will affect her
psychelogy adversely,

A) then B) much as
C} rather D) which
E)} how
......... China declared its support for a ban on all nuclear weapons tests, it

conducted two nuclear tests in the following years.

A} Besides B} Owing to
C) Even tirough D) Likewise
E) Whether
Gill: Do you think your parents will come to see our new house this weeckend?
Brad: ........... I will be working at the weekend and won't have enough time to
be with them.
A} SodolL Bj I hope not.
C) Of course [ do. D) Neither do I.

E) I suppose so.

IwishI......... on my brother with the writing of this report. As usual, he let me
down again!

A} wouldn't rely B} won't rely
C) didn't rely D) hadn't relied
E) haven't relied
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17

18-

21-

22-

The first officer ......... over the ship when the captain ......... a heart attack.

A} took/suffered

B) has taken/suffers

C) takes/will suffer

D) had taken/would suffer
E} would take/has suffered

Celts are a member of an early Indo-European people ......... , from the 2nd
millenninm BC to the 1st century BC, spread over Europe,

A} where B} how
C) when D) why
E) who
My sister is ....... pessimist ....... she views every minor setback as a disaster.
A) so/as B) as/as
C) more/than D) too/that

E} such a/thal

The widow of Black Muslim leader Malcolm X ......... in a fire in her apartment
in New York City, which, presumably, ......... by her emotionally disturbed
grandson.

A) burned/has been set B) was burned/was set
C) was burning/was seiting D) had been burned/set
E} would be burned/had set

By the time ilke ......... to study Philosophy, she ......... as an architect for five
years.

A} was beginning/worked B) had begun/was working

C) hegan/had been working D} will have begun/is working

E} has begun/worked

The Normandy Invasion ........ . led to the liberation of Western Europe .........
contributed to the defeat of Nazi Germany.

A} not only/but also B) the most/that
C) so/that D) hardly/when
E} whether/or

Seeing that there was nobedy in the classroom, I thought the French lesson

..........

A} used to be cancelled

B) might have cancelled

C) ought to cancel

D) must have been cancelled
E) was to be cancelling
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IfX ... you, I......... him to share his house with me since he is a very
difficult person to get along with.

A} had been/won't have asked
B} were/wouldn't ask

C) will be/shouldn’t ask

D} have been/couldn’t ask

E} could be/won't be asking

.......... what may happen, he will not change his mind.
A} No matter B) Besides
C) In case D) Although
E) However
I'll bet you now wish you had listened to my advice, ........7
A) do you B) had you
C} don't you D) will |
E) won't I
During the trial at the court yesterday, the notorious gangster ......... as if he

......... the murder of 63 people.

A) grinned /hasn'’t ordered

B) had grinned/wasn't ordering
C) grins/isn't going to order

D) has grinned/didn't order

E) was grinning/hadn’'t ordered

The earthquake in Malibu, measured at 6.8 on the Richter scale, reduced some
of the buildings to rubble, and claimed the lives of ......... seven people.
A) a lot of B} at least
C) any D) every other
E} every
Although Giilsah is old enough ......... care of herself, her mother doesn't let her
......... out at night.
A) taking/having gone B) having taken/to go
C) take/to have gone D) taken/going

E) to take/go

Benjamin Franklin, one of ......... first inventions was a set of paddles to give
him greater speed in the water, was an American inventor and statesman.

A) that B) whom
C) which D} whose
E} when
Now that you ......... to visit your parents during the Bayram, they ......... you,

s0 you have to keep your word.

A) promise/will expect

B) have promised/will be expecting
C) had promised/would be expecting
D) promised/have expected

E} would promise/were expecting
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33-

34-

35-

36-

37-

38-

......... uncle didn’'t mean any harm though he was a little severe when
criticising ......... .

A) His/his own B) Her/hers
C) Mine/myseif D} Your/you
E) Your own/yoursell

Would you mind ......... me what you've been doing since the morning without
EVell ...ui..ae- out of your room once?

A} to tell/having come
B) having told/come

C) told/to have come
Dj to be telling/tc come
E} telling/coming

I want to plant a few sour plum trees in my garden, but I don't know .........
season of the year I should do that.

A) when B) which
C) whether D) whose
E) how long
Currently, Pinar ......... a baby, so by their next wedding anniversary, she .........

a mother for about six months.

4) is expecting/will have been
B) was expecting/had been

C} has expected/will be

D) has been expecting/has been
E) expects/is going to be

During ......... part of the 19th century, Sweden was a poor and overpopulated
country.
A) many B) mostly
C) the greater D) such a lot of
E) all
My husband and I often dream of quitting our work ........ we have saved enough

money to travel around the world.

A} while B) by the time
C) though D) so that
E) once
The gang of armed robbers that ......... inte the bank during the night ......... the

57 million in the vault.

A) were broken/had stolen
B} have broken/have stolen
C} were breaking/would steal
D) had broken/stole

E) broke/were stealing
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42-
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44-
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Even today the characters played by Charlie Chaplin ......... people laugh just as
they ......... in the 1930s and 40s.

A) have macde/were B) made/could
C) make/did D) are making/had
E) will make/would

Elia tried hard ......... her grandfather ......... the pills regularly so that he could
lIower his blood pressure.

A) io persuade/io take

B) persuading/for taking

C) having persuaded/taking
D) persuaded/to have taken
E) 1o be persuading/take

You have no right to complain now because you ......... the consequences of
your viclation of the school's rules.

A) would be considering
B) should have considered
C) could consider

D) musi be considering

E} were able to consider

I admit she behaved a little ......... provokingly for you to keep calm, but as a
mother, you reacted extremely inconsiderately.

A} so B} more
C} oo D) the most
E} as
It's a pity ......... our volleyball team has been defeated in every match in the

last three weeks.

A) whaose B} when
C) why D} that
E) how
She is not sure ......... it is right to put an immediate end to a Iong friendship

just because of a white lie.

A) when B) which
C) whether D} whatever
E} how long

In the 15th century, the invention of ......... printing press greatly aided the
spread of ......... information.
A) some/every B) a/all
C) a/the D} —/much
E) the/—
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47-

48-

49-

50-

51-

52-

Last year my aunt moved to New York City, ......... she works as a salesclerk at
Macy's department store,

A} where B) who
C) which D) when
E} for whom

......... Buddhist doctrine and philosophy spread in Asia, there flourished
remarkable architecture there.

A) Whichever B} Wherever
C)} Whatever D} However
E} Whenever
For the last two months, they ......... overtime in order to finish the project
they ...... ... five months ago.

A) had to work/would undertake

B} will have to work/undertake

C) have to work/have undertaken

D) have had to work/undertook

E} would have Lo worlt/were undertaking

Her husband is ......... rude man ......... I am very happy sh~ Lz~ decided to
divorce him.

A} more/than B) such a/that
C) too much/for D) so/that
E) the most/as

You can add to the meal ......... spice you like since I like all of them.
A} however B) whether
C) whichever D) that

E) rather

......... one's thinking seems noticeably disturbed over a long pericd, one is
usnally classified by psychiatrists as psychotic.

A) How B} That
C) What D} Which
E} When
| EUSUR at home on Friday night because I have had a hard week in the office

and I want to go out and relax.

A} would rather not stay B} couldn't stay
C) must not have stayed D) haven't been staying
E) shouldn't have stayed
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53- The governments of Bolivia and Brazil signed an accord in August approving a

52 billion natural gas pipeline ......... they had negotiated for months.
A) belore B} when
C) alter D) until
E) since
54- We have decided to move to a new flat ......... the construction of a new

apartment building that fully blocks the sea view from our flat.

A) while B} because
C)} however D) on account of
E} as soon as

55- You ......... him very frequently, if you insist on doing so, he will probably be a ‘
timid person when he grows up.

A) needn’t have warned
B) had belter nof warn
C) musin't have warned
D} couldn’t have warned
E) might not warn

56- Although we have saved quite some money, we still need ......... $3,000 in order
to be able to pay the down payment for the house.

A) rather B) another
C) much more D} the more
E) some other

57- My two-year-old niece is allergic to some fruits, ......... oranges, tangerines and
grapefruits.
A} such as B) instead of
C) because of D} more like

E) rather than

58- Someone reads to the blind students at the university library every Tuesday,
74

A} will they B) does she
C) doesn’t he D) do they
E) don't they

59- Folk theatre is ......... elaborate yet ......... widespread than folk dance.
A) very/so B} too/much
C) so/that D) more/less

E} as/most
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60- The methods by which plants are distributed over the Earth are ......... diverse
and complex ......... the plants themselves.
A) the more/the more B} whether/or
C} as/as D) neither/nor
E} both/and
61- Before the students ......... to the classroom, the teacher ......... all the topics of

62-

63-

64-

65-

66-

the day on the blackboard.

A) will come/will have written
B} came/had written

C} had come/was writing

D) come/has written

E) have come/wrote

Unable to pay his credit card bills, he now wishes he ......... 50 much on claothes

to show off.

A) hasn't spent B} didn't spend
C) weren't spending B) hadn’t spent
E} wouldn't have spent

"Take good care of ......... ," said Virginia to both of her sons before sending
......... to a summer camp.

A) yourselves/them B) yourself/their own
C} you/they D} your own/themselves
E) yours/their

Agatha Christie is the writer of more than 70 successful detective novels, .........

most famous detectives are Hercule Poirot and Miss Jane Marple.

A) whom B) that
C) whose D) when
E) which

In Japan, students go to school on Saturdays ............ ail week long.
A} too much B} also
C} rather D) in addilion
E) as well as
He ......... more than $1000 out of his salary if he had wanted to, as his rent

was not very high last year.

A) will have saved
B} had been saving
C) would save

D) used Lo save

E) could have saved
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68-

70-

72-

73-

I wish Stan ......... to the graduation ball next week. Now, I will have to find a
partner to accompany me.

A} has come B} could come
C} had come D) can come
E) will be coming

"We can't afford to buy ......... the red boots ......... the yellow shoes at the same
time, dear. You must choose between them."

A} not only/bu also B) whether/or
C) either/or D) both/and
E} neither/nor

Are you still thinking of ......... up your job with the international law firm?

A) to give B) give
C) giving D)} given
E) having given

Denise had better buy a diesel car to economise on fuel. If she buys a car .........
on petrol, she'll have difficulty ......... the expenses.

A} running/meeting

B) {o run/to be meeting
C) run/for meeting

D) to have run/to meet
E) having run/in meeting

An advertisement must be promoted with a slogan that will appeal to almost
......... member of the community designated as the target consumer.

A) every B) the
C) all D] both
E)} more
During a job interview, try to speak ......... you can in order to let the employer

understand that you are a hardworking, experienced and confident person.

A} more convinced than B) the most convincingly
C} as convincingly as D} so convinced that
E) convincing enough

My nephew treats his dog as though it ......... his brother. He even wants his
mother to put a plate for Comar on the table at meal times.

A) will be B} has been
C) had been D}is
E) were
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His best friend accused him ......... his mathematics notebook just one day
before the exam intentionally.

A) being lost B) for losing
C} to lose D} ol losing
E} to be losing

Almost half of the Irish population ......... almost exclusively on the potato crop
for their diet before the government ......... a solution to the famine.

A) relied/was finding B) has relied /would [ind
C) would rely/has found D) had relied/lound
E) relies/is finding

Her studio is full of ......... kinds of dyes, from pastel crayons to dyes for glass,
A} each B) whole
C) every D} both
E} all
Interesting ......... it was, I didn't think much of the film because of its gloomy
atmosphere,
A) however B} despite
C) though D) because

E) no matier

The Commonwealth of Nations declared that Nigeria ......... from the
organisation if it ......... democracy within two years.

A) had been expelled/wouldn't restore
B) would be expelled/didn’i restore

C) will be expelled/couldn't restore

D) has been expelled/weren't restoring
E) is expelled/won't have restored

......... I saw my daughter, I understood that something had upset her at school.
A) The moment B) Until
C) The [act that D) By the time
E) In case
......... had I and my husband settled at our table for a meal out ......... the

babysitter phoned to say that our son had a fever.

A) The more/the less B) No sooner/than
C) Not only/but also D) Whereas/as
E} When/both
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Stanley, who is an editor at a distinguished publishing house, ......... extremely
hard lately because they ......... out 4 new book in a week or so.

A) is working/will have brought

B) has been working/are bringing
C) works/will be bringing

D) had been working/have brought
E) worked/are going to bring

Perhaps the caste system in India is ........ manifestation of status groups than
all the other class systems in the world.

A) striking enough B} the most striking
C) much striking D) a more siriking
E) so siriking as

Of all the young authors who have emerged in Finland recently, who do you
think is ......... accomplished?

A) far more B} too
C) much D) so
E) the most
Women have been playing basketball for almost .......... men.
A} as soon as B) such as
C) owing to D) rather than
E} as long as
The football match ......... on for about 20 minutes when the referee ......... to

cancel it due to heavy fog.

A) has gone/was to decide
B) went/was deciding

C) had been geing/decided
D} was going/would decide
E} will be going/has decided

Air France, ......... in 1833, is today an organisation ......... in all parts of the
globe.

A} founded/operating

B) having {ounded/operaccu

C) being founded/to operate

D) to be founded/having operated
E) founding/being operated

Criminal research has shown that severe penalties do not act ......... deterrents
to most criminals.

A) like B} as
C) too D) such
E} so

55



ELS - YDS

56

8O-

90-

91-

92-

93-

......... most members of the cat family, which hate water, tigers are good
swimmers and they cross rivers readily in search of prey.

A) Rather than B} More than
C) Much as D} Such as
E) Unlike

After she left her hometown to study French literature at a metropolitan
university, she ......... how much she ......... on her parents all her life.

A) was realised/was depending

B) has realised/would have depended
C) realised/had been depending

D) had realised /has depended

E) has been realised/is depending

Larissa receives few tourists ......... being one of the most impeortant historical
towns in Greece.

A) thus B]) besides
C) as D} despite
E) yel
Her father ......... her repeatedly so far that he ......... her coming home late at

night any more.

A) is warning/doesn’t toleraie
B) had warned/isn't tolerating
C) wams/won't have tolerated
D} has warned/won't tolerate
E) was warning/hasn't tolerated

Frequent storms, heavy snows and bitter cold afflicted ......... of Europe in
January and February in 1995.

A) several B) a few
C) enough D) plenty

E} much

She realises that she ......... harder in high school now that she can't find a
better job than working as a secretary.

A) must have worked

B} ought to have worked
C) could worl

D} was able to work

E} would rather work
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At the end of the trial, which ....... .. three months, he .......... guilty of having
bombed the Federal Building in Oklahoma City.

A} lasted/was found

B) was lasting/had found

C) had been lasting/{ound

D) has lasted/had been found
E) would last/has been found

As children living in a shanty town, they hoped that, when they .......... up, they
......... rich enough to buy candies.

Aj grew/would be B) would grow/were
C) have grown/ought to be D} could grow/used to be
E) had grown/have been

AsT......... to the birthday party of my friend, I suddenly remembered that I
......... her birthday present at home.

A) had gone/was leaving B) am going/left
C) go/have left D) was going /had left
E) will be going/would leave

Virfual communication, like the Internet and mobile phones, ......... so fast that
now it ......... to strip communication of its moral obligations.

A) is developed/has been threatening
B) is developing/threatened

C) has developed/is threatening

D) had been developed/will threaten
E) develops/was threatening

I don't interfere in my dauwghter's problems since I want her to solve them
......... she thinks appropriate.

A) whichever B) whatever
C} however D) whomever
E) wherever

In floor exercise routine, the only artistic gymnastic event .......... uses music,
the gymnast emphasises dancing and tumbling skills.

A) where B) that
C) what D) when
E} who

100- During the 20th century, folklore and folk speech had a great influence on

WTiters ......... Franz Kafka, Carl Sandburg and Selma Lagerldf.
A) so diverse that B) more diverse
C) diverse enough D) very diverse

E} as diverse as
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For relaxation, you should choose music that you associate .......... happy
memories and they should be long pieces, or similar pieces that merge ..........
one another.

A) with/into B) in/upon
C) from/at D) to/through
E) up/down

It is a chilling thought that most of the adults in Angola today have grown
......... not knowing what peace is. Although ......... times peace seemed likely, it
always remained a dream.

A) with/beyond B) out/through
C) up/at Dj on/in
E) around/from
More than 60% of the country’s population lives .......... dire poverty, while the
rich have the control .......... the resources.
A) from/to B) in/over
C) with/of D) for/on
E} on/in
All companies in the UK must comply .......... the Data Protection Act and
respond .......... 40 days to requests for personal information.
A) of/down B} to/beyond
C} into/from D) with/within

E) over/around

"Let me have a look .......... YOUT ANSWEY ..evvvvass question 31," whispered the
puzzled student to his friend.

A) to/over B) over/at
C) at/io D) about/in
E} for/with
Alice .o.venns the newspaper and piled firewoed over the top, hoping that soon
the house would be warm again.
A) cui down on B) took pride in
C) took part in D) took advaniage of

E) setl fire {o .

......... all of Donald's friends, Johnny was the one who steod ........... with his
gentle manners.

A} To/around B) With/up
C) From/upon D} Among/out
E) Around/about
Susan walked .......... to her boss coolly and then stated firmmly why she deserved
a rise ......... £2000 per year,
A) with/towards B) al/with
C} into/at D) with/in
E)up/of
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He described himself .......... an impatient person who liked to have many
projects ......... way at one time.

A) on/along B} as/under
C} with/for D) like/off
E} to/out of
Sao Paulo, Brazil, was named .......... St. Paul because it was founded by Jesuit
missionaries in 1554 on January 25, the anniversary of Paul's conversion
.......... Christianity.
A} alter/lo B} by/about
C) from/from D) of /towards
E) for/with
veseeine. MY time in India, while learning the language, discovering the customs
and working .......... the people, I never truly felt as if I belonged there.
A} Aboul/down B) In/from .
C} From/about D) Throughout/among

E} Out of/over

Jazz guitarist Django Reinhardt, who had to give .......... playing the violin after
a fire severely injured his left hand, focused .......... the guitar afterwards,
blending black and Gypsy traditions in his style.

A} up/on B) in/with
C} by/io D) out/upon
E) off/over
The old lady popped .......... the village shop for a packet of biscuits to go ..........
a nice cup of tea later.
A) at/towards B) through/by
C) into/with D} froni/about

E) over/beyond

Companies have an obligation to make sure that your personal details are not

transferred .......... couniries which do not have adequate protection ..........
misuse.

A) at/about B) to/against

C) on/with D) over/for

Ej} beyond/in

In order to reach the camp of the gypsy people, who have settled in the

clearing ......... the river, you need to walk ......... the woods.
A) across/towards B) by/through
C) in/along D) on/fover

E) down/above

Our ability to smell is triggered .......... tiny particies floating .......... the air.
A) on/for B) with/with
C} around/on D} by/in

E} aboul/up
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When we breathe .......... these particles, they are recognised by the receptors
.......... the nose.
A) about/about B} over/for
C) through/out D) for/up
E) in/in
The value ......... radio commmunication .......... sea was dramatised on January
23, 1909,
A) about/to B) with/in
C} for/from B} of/at
E) in/for
That day, the passengers on the Republic were rescued ......... the ship's distress
signals after it was struck by the Florida off Nantucket Island.
A) in response to B) on the point of
C} in touch with D} in favour of
E} in danger of
Unfortunately, there were no seats on the bus, unless I had chosen to sit ..........
two unruly teenagers .......... the back seat.
A) with/towards B) in/with
C} between/on D) for/from
E) on/about
The soothing sound .......... wind instruments, such as pipes and flutes, can help
you to relax your mind .......... bedtime.
A)on/in B) with/beyond
C) of/at D} over/from
E} through/over
.......... the age of twenty-one, he will receive the money his grandmother left
him ......... her will,
A} In/through B) At/in
C) Above/irom D) On/with
E} After/to
Tarot is the ancient custom of laying cards .......... and interpreting the
jHustrations to gain added insights ........... a person’s past, present and future.
A} over/above B) against/with
C)in/out D} from/about
E} out/into
.......... two months’' time, this period of siress will have passed and we’'ll return
........... our normal pace at work.
A) By/in B) During /with
C} In/to D) For/for

E) Over/at
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When a stranger arrived in the French village of Lansquenet and opened a
chocolaie shop directly .......... the church, the priest identified her ........... a
serious danger to his congregation.

A) over/above B} by/from
C) about/into D) opposite/as
E} with /over

Howards End ......... E.M. Forster, which was published in 1910, tells the story
of two sisiers who take very different paths .......... life.

A} from/ihrough B)] by/in
C) about/on D} to/with
E) for/for

The industry, trade and population of the Italian city of Milan swelled .........
the period ......... the two world wars,

A) over/io B} in/between
C) from/with D} during/for
E} for/until

Lucky charms have been used .......... the centuries and .......... the world in the
hope of bringing people wealth, love and happiness.

A} from/over B) over/underneath
C) throughoui/across D} beyond/around
E) with /through
A herseshoe .......... a doarway, for example, symbolises a new moon and is used
to bring the residents an increase .......... their fortunes.
A) under/over B) for/with
C) against/into D) over/in
E) behind/over
The artist has used a classic watercolour technique .......... painting the tulips.
He has applied a pale grey wash to the background .......... the flowers,
A) into/out of B) for/behind
C) against/in D) inside/at
E) by/beside
Ian Sidaway was trained .......... a designer at Nuneaton School of Art, and
vessenee. graduation, he started work in advertising.
4) through/in B) for/with
C} from/during Dj as/upon
E} about/around
As long as the Chairman was popular, she supported him, but when he fell

......... disfavour, she knew his days were numbered and worked ......... him,
A) over/about B} with/from
C) info/against D) for/towards
E) under/through
Playing .......... the house .......... the safety of the back garden, the young
children loved the sand pit.
A) inside/against B} out of/from
C) over/beyond D) over/in

E} outside/within
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When you start to draw an object, you subconsciously check it .......... what you
already know .......... its shape and structure.
A) above/inside B) against/aboul
C) within/over D) from/with
E)} with /against
Bears are still sought .......... various economic assets, ........... meat, fur, teeth
and fat.
A) on/aver B} with/from
C) about/in D) to/as
E) for/like
He works hard .......... dusk until dawn .......... a very limited amount of money.
A} before/in B) about/under
C) for/with D} from/for
E) over/about
Ever ........ the day he met her, he has been deeply .......... love.
A) from/with B) since/in
C} after/to D) by/for
E} on/within
The artist creates beautiful drawings ..... pencil ..... copying from photographs.
A} in/by B) from/in
C) with/about D} for/from
E} about/over
.......... view of the circumstances, it seems beiter to wait ......... tomorrow.
A) For/by B} In/until
C) From/before D) With/during
E) Over/for
.......... respect for the boy's father, the store manager did not report the matter
to the police when he caught the boy shoplifting .......... his shop.
A) At/in B) From/hy
C} Over/through D} Out of /inside
E) With/down
Mount Ararat, a mountain ......... the east of Turkey, ........ the border of Iran, is

traditionally considered the landing place of Noah's Ark.

A) to/above B) over/in
C) off/with D) o1i/across
E) in/near
......... a practical view, the situation presents several problems, which require
us to deal with them ......... delay.
A) lipon/out of B) From/without
C) With/off D) In/above

E) Through/under
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Meeting for the first time .......... August 1812, Maria and Patrick married in
Guisley Church .......... Tuesday 29, December of the same year.
A) by/in B) for/till
C) during/at D} in/on
E} on/by
The government troops .......... the revolt after several days of bitter fighting,

and the leaders were executed six months later.

A) brought out B) logked up
C) took off D) put down
E) did over
The climatological event El Nino has a worldwide influence because changes in
the ocean temperature ........... changes in the atmosphere.
A) wear out B) blow up
C} bring about D) pour down
E) look out
Douglas didn't like to .......... his mother’s good nature by asking her to help out

with the childminding as she had already babysat for her granddaughter the
night before.

A) make sense of B) play a trick on
C) take charge of D} take part in
E) take advaniage of

Arthur .......... the competition feeling rather anxious. It meant so much for him
to win that he didn't know how he would react if this wasn't the case.

A) took parl in B} came up with
C) made sense of D] had an effect on
E) losi count of

It was not until I had mixed the sugar with the butter for the birthday cake that
I noticed I had .......... eggs and it was too late at night for the shops to be open.
A) run out of B) put up with

C} got on with D) gone down with

E} come up against

Although it is only January, it feels as if spring is here early becanse snow drop

flowers have ........... all around our garden.
A) made out B) passed out
C} come out D) worked out

E} looked out

The market researcher stood in the town square handing out leaflets on a
washing powder that had been newly .......... .

A} kept out B} brought out
C} put out D) passed out
E} pointed out
"Shall I ......... FOU coeunenen at the office before I take this parcel to the post
office, or would you like to come with me?" asked Jim.
A) let/out B) call/in
Cj drop/oll D} see/off
E)} get/out
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When an unexploded bomb was discovered on the housing estate, the area was

sealed off in case it ......... while the experts were disposing of it.
A} took off B) broke oul
C) carried out D) showed up

E) went off

Don't come to the station to .......... mE ...oeeees as I've always hated goodbyes.
A) see/foff B} bring/up
C) slow/down D} find/out
E) check/out
Tri........ my trip to London and stay home to look after you if you feel so ill.
A) come up B) call off
C) run out D) break down
E) pass away
So that is decided then. We'll take a boat trip en Saturday unless someone

........... a better idea in the meantime.

A} makes room for B) takes no notice of
C) takes pride in D) comes up with
E) keeps an gye on

He had promised to tidy his room today, so when I discoverea he hadn’t done
so, I felt that I had been ............ .

A) kept out B) broken down
C} let down D) carried out
E) let in
Spending a day shopping with my mother-in-law had .......... Mme ....oouvss and I
collapsed exhausted on the sofa. '
A) broken/up B) put/off
C) worn/out D) tried/on
E) cut/down
I haven't started a strict diet, but I am hoping to lose some weight by ......... o1

sweet and fatty foods.

A) calling off B) getting down
C) poiniing out D} coming out
E) cutting down

Our football went over the fence and, because our neighbour wasn't at home, we
couldn’t .......... it e, .

A) do/over B) put/ont
C) take/on D) get/back
E} think/over

Even though her daughter is only six months old, Ruth is .......... ten pounds a
week for her education.

A} pulling aside B) bringing down
C) cutting across D) throwing away
E) doing over





